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During the year 2016, total number of Indiaﬁ Satellites launched by ISRO is
(a 3 ® 4 ' :

© s R

2016 gy p@Ted ISRO-eurd efdmadle  gauulL - @sBu  QeupmsCaraseien
eretTenf| GensITGTg) : e ' ' '
@ . 3 | E ® 4
© 5 : o D 6 -

The val_en'ce electron of the inripurity atom that is to be’added to germanium crystal so as to
make it a n-type semiconductor is - '

@ 6. - W

© 4 . 3
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A particle executes S.H.M. The acceleration of the particle is maximum
¢ atextreme position ' '
(B) at mean position

(C). midway between mean and extreme position

(D)  acceleration is same at all position

@@ Qunper gafliédflas Qusssdd smoapbGLITg, g Sifeu_s Qp@&aalb
&) QAgrera Hepauies ferL_&@LD | )
(B). el Henauiiéds SenL&@ELb

- {(C) G.grra)éu Planes@n srnaf flenesELn Bent_Gu é]eml;é;@Lb
(D) | sden (ﬂm@uﬁ]@@ ' -

The velocity of O in \_ )
- (A) Water : (B) Air
W  Metal . (D) Vacuum
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5. The aqueous solution of potassium chloride is
(A) a weak electrolyte

‘GBr a strong electrolyte
{C} a non-electrolyte
(D) - initially weak and then become a strong electrolyte

B sengés Gu rC b @Gameny() Serse enLig)
A) adew Gophs Weanigef

B) adaw AGHE uSlaru@aﬂ

(C) Lﬂmu(gqﬂ RDaama

) q,g’muﬁﬁm audlents @enmibg, Seseni mc&mm Lﬁl@gb,s Reugall

6. An acid is a substance that can lose a protoh is called
(A) Arrhenius concept
N, Bronsted-Lowry concept
(C) Lewis concept
(D)~ Usanovich concept

2Bl Grsi:Tngl HGorlLnessenan @) p&@id gs&i@nm-@snﬁn_gj.
A sirdaflue sEgieubd | i ¥

B) L‘ﬂl;r!‘réldﬂp@-ﬂ)é.lﬁ sEFeid -
(© gl sigiand

(D) e egramelld gHguDd

7. Which of the following is a wrong statement?
(A)  All the minerals are not ores
_ (B)' - All the ores are not minerals
(C)  All the ores are minerals
(D) From ores, metals can be extracted economically

£Cy QanpéasuuHarer eaursfubiseilcs arg seuprearansu?
(A)  erdar seafl Ln@l.b ,s.ugéssir geéene

(B) @eaer grrgu's-a;@l.b saflwmigdr Geena

(C) o srgEsEhh saflobsarsre
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Wluch enzyme catalyze the conversion of Pyruvw Acxd mto Acetyl c¢o-enzyme A in the
respiratory process? . _

(A)  Pyruvic acid oxidase
(B)  Pyruvate synthetase
(C) Aconitase -

M Pyruvate Dehydro_genase

a;a.lrreﬂggw ﬁsp&ﬁuﬁlw Qumrps mu@eﬁ]aﬁ &L&wmg &I@L.@I_GD Gar-crenansid-¢r, eTenD
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(A mu@aﬁ]s Sidle EHRCL6 . ' o

®) LGl ) 5L GLav

(O =CsrafiGLev

(D) anu@(?suﬁ_ g enamL” Gymell Garev

Match the following algal pigments with their colour :

- Pigment Colour:
(a) Chlorophyll 1.  Orange
() Xanthophyll ' 2. Green
(¢) Carotenoid 3. DBlue green
(d Phycocyanin 4. Yellow

(a) (b) (@ (d)
W 2 4 1 3
® 2 4 L &\
© 1 2 3 4
®) 4 1 el 2
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(@) @SanGrmie 1. . Sress
(b)) CapCsmde 2. uiws
©) &Gy genmii( 3. feu-uses
(@ euCasrsweatien R 4. LD(H &

@& O (c) (D
A 2 4 1 3
® 2 4 3. 1
© 1 2 3 4
® 4 1 3 2 |
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10.  Which of the following is correct?
- The term gystole refers to
L Phase of contraction of lungs.
IL. Phase of relaxation of lhngs.
ITI.  Phase of relaxation of heart.
IV. Phase of contraction of heart.

(A) IandlIlonly B 1 and III only
(C) Ilonly h (Df v only

EpaHdc Leameausalle sflumaeupap GHILIHS.

AevGLréh aramifler Guimmer '

I. mienyuired &@mEIEGLD Hane

II. meomSre aflfleusnuybd Hlane

L  @mswub efam b Hae

v, BIBSWD &HEGLD Hlened

A  TIopmd I ol b ®B) U whgbIIT wliEn
© Ioleo | | D) IVelpw |

11.  Choose the correct answer from the codes given below.
Assertion (A) The pyramid of grassland ecosystem is upright.

Reason (R) : ‘The producers are maximum in number and tertlary consumers are .
‘ . leastin number. o

W (A) and (R) are correet
(B) (A) alone is correct

(C) (R) alone is correct _ )
(D) (A) is correct (R) is not the reason for (A)

. £Qesanm_ &HSEsaflelmbs sflwnan sﬁ]cm_smu_l Ggrrp@g@
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12.

13.

(a) @@I;GI;WELb

) BAgey Gpmis

@ 1 3 4 2
® 2 3 4 1
(© 2 4 3 1
™ 3 2 1 4

IAes'tivat.i_on_ is seen in .
(Af Amphibians. '
(C)  Salmon

C_Bé;rrcu}l__ &‘mésasfo Qaupdle mmLQuyﬁmg}
A) Quofew surpelsd

(C) sméwen

Match the following :
Disease. '

(a) Leprosy

(b) Typhoid fever

(& Tuberculosis

(d) Diabetes |

I -

(a) (b) (¢ (d)
a 1 3
w2 3
© 2. 4
Dy 3 2

— O R
M b2

Ql_irr@gsgjs :
G‘I_'F)l‘l'ﬂ'_i

®d)  Cenumill smiFsed

(c) &meGpmi -

W N

@ ® © @ @

(B) Chimpanzee
" (D) Squirrels |

(B) &ovurené
(D) siemfidosar

Test

- Glycosylated hemoglobin test

Lepromin test
Widal test

~Mantoux test

Gengemen. o :
HenenGanensGal L L afGin W@Gm&lﬂeh Gengenen
QaiGymblen Gamgenas I

eneui_rrer Gamgenest

wrerGLréen Gargenar
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14, List out the following Bahmani rulers in chroholog'lcal order and mark the ¢orre¢t choice :
L. Alauddin Bahman Shah N .
II. Muhammad Shah III
III. Ahmad Shah
IV.  Firuz Shah

@) LIV, I
@ LIV,ILI
© IV,LILI
@ IV,LIL I

&Gy Gan@ssuu @erer umfleft sirsismer sme uflansliig uLLq_LUGS]L(B slwrer aflenLenw
CipAsk | | '
I DmeySe LIMLDGT Qg

. IL. APSITDLD APELDS| OGIT
III.. DIEDF QP

Ul . 19Cymav ayr

@ LILIV,II
® LIV,ILI
© W, LULI
@ IV, I, 11

15.  The twenty second Tirthankara of Jainism was
(A) ' Rishabha
(B) Badrabhagu
(C) Parsva

W)’ Neminatha

swemsowser Gmuss @qs&a&pnm@ SigsmisyT
&)  fegur

B)  ugyng

(C) uriseur

D) - Crlprsr
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16.

17.

Consider the following two statements eone1st1ng of Assertmn (A) and Reason (R) and select

“your answer using the codes given below.

Aggertion (A) : - The temple was not merely a place of worsl'up, it filled a- large place in
=T 7 = the cultural and economic life of the Tamil people

Reasoning (R) : Its construction and ‘maintenance offered employment to number of
' . architects and craftsmen.

(A)  Both (A) and (R) are correct and (R).is the correct explanation of (A)

@( Both (A) and (R) are correct and (R) is not the correct explanatlon of (AY

(€)' (A) is true and (R) is false

e (A)1sfaleeand(R)1strue - . o | -

ég_ua;a;wrl_ Fadml LHMID asrrum’rg,mgas sauafl. Guogib. £g;e;sam_. @gﬁluﬁ@\&mmas Qarram‘r@ sfiren
fanL_ew CoipllsEasa|n _ .
spm (&) :  Coraflesd eufiur G geomiser LDL..@LDG’IJGDITLDQJ Sime SIS

1] | nEsanar srEsTy, ClLiTHeTTSI QUTLDENE! %Lng@ AL TN @L_qu: :Q],@Ln

sryeerd (R) : Geneﬁ]a}&e‘r & (Hurery Lefluid whaib ﬂnmw&gﬁm SLLL QUAGIBTSEREGD
 enscllanané HenEHTEEESEGLE Cousnen sumiiGemar GULDEIEILIGI

@ () wppid ®) pfumarfl oppid ®) 2o (8) b sfluten ellanssio @b
(B) (A) mgjgju:. R) %éﬂu_lmeu &rﬂ mg)glm (R) <yl (A) & &rﬂturrsm G ETHSLD HEVED,

' (C) (A) &0 e (R) seum
RO (A) saug ame (R) sl

Consider the following pairs:

I Rukmani Devi Arundale . - Kalakshetra
II.  Ravi Shankar : —.  Sangeet Natak Aeademy
Ir.  M.S. Subbulakshmi - Ramon Magsaysay Award
v. © 4. Krishnamoorthy - - Bharat Ratna
Which of the palr given above is/are mcorrect‘?
- (A) I and IV only . ~ (B) Ilonly
IV only . (D) Mandlonly
&@éaa;aim_l @emménm geuafl ‘
T. méoat Gaall &@@TGL_GD -~ sarGeggdlyr
.  @refledsr - SRES BTLE s L0
HI. enb.erav. &uqmt_mﬁl — proen wréGels Ll s
IV. Ggn figlger gpisd - LITGS, F&eoT
 Gupaam @eneniidied 65 FeuDTESHI? ' _
@A) ToppnIVelfd B Holeo |
() INolEd ' (D) 1II womd 11T L Hib
9 . GS1902
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: 18.  Who constructed a canal of 150 miles fom Yamuna to.‘Hiss.ar fpr agriculturai I_mrlpose? .
(A)" Qutb-ub-din-Aibak | | |
_ ‘Bf | Firoz Shah Tughlaqu = '
(©  Khizir Kh.'m_ _ |
(D) Sikandar Lodi _

. G‘ﬁ]GU.EI'I'U_I‘é:Bﬂ'Ij)EI'I'E u@ﬁ)&ﬁ [EAO BN ablgit e;mmg. 150 @ Hertperil sredeurany a%mmg'sga.lfr
wImre | ' | | .
(A). GaySen aqul@uésl
B SGCymev g gjésmf&'

(C) dalisren

D) Hsspgt Gamg

19.  The villages Raksas and Tagdi related to which battle? .
W0 Battle of Talikotta
(B-) Battle of Tak_kolamf
(C)  Battle of Panipat 1761
: (D) : Battie of Adayar

| gTéETe LODGID Féig. Egmokise oTbs CLT@HL e 'Glfa;rrl;f;a_jml;mgl?
A)  seesCsrier. Cunt |
B) s&Carelr Gumi
(©  ureflu Guri 1761

D) e wnrmy Guni
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21.

‘ (c). Annie Besant

20. “Khudai Khidmatgar” mo_ve‘_ment was organised by

W Abdul Gaffar Khan = (B) Syed Ahmied Khan

' (©) Liaquat Ali Khan == (D) Muhammed Igbal

“GoL Hgwniad” @LESESMS SIMDESEUIT
(A) . é]ﬁg]é;_esunﬁsndr . . = ' (B) _@smga&mgjsm&r'

©  Dwnsg el smer : ' ' (D) @&L‘nng GlaLime

Match List I with List II and select your answers using the codes bélow :
ListT = Wl List 11 -

(@) Madan Mohan Malavia Azad Hind Fauz

() A.O. Hume Hon:ie Rule Movement

Banaias Hindu University

Indian National Congress

Bl o

@ Subash Chandra Bose

@ ® © @

@ 3 2 4 1

w3 4 2 1

© 2 3 1 4.

o 2 1. 4 g

_ =i+ euavent I opmyd Meven, i@é&n@ﬁ: auflengsmaer Lwam B andqu(a,sgja.

Sl asevenr 1 - - - i cuenenr 11 ' '

@) mgmcmm& oraraflum L sens afls Quarsy

B AO. afigw | 2. g A Qussn

(©) oemafQuadt 3, uafnr;sfu @hg ud)asmmeta;;pﬁb

{d) &l;irrsfb aﬁaﬁu’_(‘éunéiv 4. o) ‘li',ﬁtu Gaélw sl IJ'GiD.

(a) (b) © @@

A) 3 2 4 1

B 3 4 2 1

e 2 3 1 4
D)y 2 _ 1 4 3

1n === = - GS1902
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92.  Which is not coz:rebtly matched?

(A RahmatAli. -  Pakistan -
@ Vinoba Bhave —  Second Individual Satyagrahi
(C) Linlithgow - August Off_er
(D) Rajaji - — - Kulakalvi Thittam

EpET_aubDIET eTg) SeunTE AL bW FTeng?

(A oS 6D - undlevgmes .

B)  efGamur LimGean —~ BramLmeug seflpu sswrdlysn
(©)  dlenelgGam JE &L padarenL.

@  ggrd - - Gessded Alib

23. Ramsay Macdonald, the British Prime Minister announced the communal award on
wr .16t August, 1932 - (B) 20t September, 1932 i
(C) 17 November, 1932 . (D) 16%August, 1946

cuglILauns oiflémsulenar @ré.lélé)rr,fr)gj Sygon @gmbGs Gustieramad® oifleilss prer
(A) 16, gymev 1932 : B) 20, Qi bt 1932
(C) 17, peubuir 1932 (D). 16, eysevl 1946

24, Choose the incorrect pair from the following :

(A)  Sarvajanik Sabha =  M.G. Ranade
(B) Indian National Congress — A0 Hume
(C)  London Indian Association -  Dadabai Naoroji

‘D_)’ Madras Native Association —  Surendranath Banerjee

- &p Qer@ssu_Herer Qanaraeaild sauprateupan CsibAswH :

- (A) - sreugefls seou - er.g. TrarGL
(B)  @pfw CsAw armdya ~ g afiybd
© o a@bdusshsnd - -~ EnsTUTD @menGrred)

D)  wgimav G HCemACGUEaT  —~  &CrHEATETS e

GS1902 | | 12



25.

26.

' (;4_1) _ Dandi March

Who was the First Women President of Indian .Natioflal Congress?

(A)  Sarcjini Naidu ' "~ x#’ Annie Besant.

(C) . VijayalakshmiPandit =~ - (D) Indira Gandhi

e\ [T Cadlu smidyedien 5 Queir Senaeuit wWTi?

A sGrgel pru® ' B)  sienafl Quaen
(O efguelssl uamgl ' : D) @sdr snpd

Match the following and choose the correct answer from the codes given below :

- 1931

1
() Karachi Congress . 2. 1932
(© Third Round Table Conference 3. 1930
(d) Lahore Congress 4, 1929

@ ® © @

@ 2 1 4 3
® 1 3 2 4
(Ga’ 3 1 2 ® ¢
® 4 2 L 1

ﬁhp&ml;mﬁ)mg) QummpsS sflwimes el enws UM CEL N T (Bgér'r‘eq Qas

(@) urrg wnsSany 1. 1931
Rl W smidpe 9. 1932
(c) @'@Tmrn.b a1 Coeng wrpm( 3. 1930
(d) T srbdlyen 4 1929

@ @® © @

(&) 2 1 4 3
® 1 3 2 4
© 3 12 4
(D) 4 9 3 1

13 .
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27.-  Who was the First Finance Minister of Independent India?
'(A) SardarVallabaiPatel ~  (B) C.Rajagopalachari
(C) B.R. Ambedkar = = - !ﬂr R.K. Shanmugam Chettiyar -

sppEr @bHunelen (o A SimEsi wimir?
(A) gt eudeumir ul Gld _ . (B) & gegCGarurcmdamt

(C gy wCugsnt S D) RK sdamgps Qsiguint

28. Arrange fhe following items according to the chronological order :
- L Simon C.ommissiox_l . '
. Gandhi Irwin Pact |
IIi. Third Round Table Conference
IV. Dandi March
@ ILI, IV, TII
® IV, ILIL1
wrl LIV, I,

©) LIVILI

&ip& sreETLMAISMET &;fa: SttgIuenLuGé e.uﬂéwt:u@gg[& :
1. oswer siblager -

II. a;r'r;i,;,él - @reflen gUILIBSL

HI.  epeprag éuf_[_ Coengy B

V. peimg wrgdeoy

@ ILLIV, I

® IV,ILILI

©) LIV, I III

© LIV, LTI

GS1902 | ' 14



29.

 30.

31. -

N ($) Ln‘e_r,ﬁu.l a[mm&&a;rma;err LD!]}QILD Lnrrﬁeu ag&a&@&g BlE) aiprisad

' The main functlons of NITI Aayog does not mclude

A momtormg and evaluatlon of programme,s ‘and initiatives _
B) developmg mechamsms to formulate credible plans at vﬂlage level

W disbursal of funds to central ministries and state governments

(D) fostering co-0perai;1ve federalism and designing strategic policy

[LYF3) %Gu_lrr&—uﬂan @pa;eﬂu_l umﬂesaﬂa) (Slerau(mLD Grlmg e @l_u: Qumrg?
A Ql_l_rs.la;m b memﬂ&mm serraranilésa|b, W iI@H QELLII.LIG].]LD _
(B) .. pwuﬁmrrsur Slymo am‘r@fﬂa) ﬁl_l_rma;a)err QUGLILG! Hmh Gugﬁl@m,r_oaam ilafmsH Q&u_lgeo

.

D) S Dey s T8 Ln,r_r}gjm GUlg @IGHIDLILY gy)(Beurrurru_l Qardrems cueny GuLl Q.l@éé@'m

The term demographic djvider}d refers to
(A) declinein population_ :

‘B‘)’ increase' in working class .

(C) decline in birth rate -

(D) decline in fei'tility rate

&6 L&E&ET Bgnens Fad Csnens Grm;_r, GD&ES g
(A) aser G]grrsma; ey : _
B | Glg;rr@a}rrmrr QUiTEaG S G,srrsn& aﬁ&;rﬂuu
. (C) . Gipii 881D Gapay '

@) s@sshi H8sd Geopey

The largest share of energy is consumed by :

(A) Agriculture B L (B) Rural power supply

_ w?  Urban p'owef supply (D) . Industry

F&dl/ g hpd fs0TE HIHEHD (&L@gl‘rd‘r@fb) gjswg) TG
(A) Ceouetnamenlo = (B) Symoiyp Wensryb
(C) . m&myD L&G_&T&rrm.b . o (D) Qsrflésar

s | ~GS1902
[Turn over



32.  The right to Education Act 2009, is not related to
(A) primalry education.. .
(B)  quality of education
©) ffe_e, education -
‘@’ higher education

&ave 2 Maow s 1b (2009) Grsh;lg ;%g;;ss&m_' TENEG @U”®§J§>w¢@§"§5 @_@é;@fo’?
(A) U sasei | |
(B) &dell gmd
O @@Gﬁ& X
D) ewisded -

33. The Lorenz curve is a measure of
(A) poverty. I : 7 income inequalities

© inﬂation rate ' . (D) tax structure

QTIEIED GlenaTey SLp 2 GTeT GTENG B|ETESE 257
(A) eugend o S (B) bj@mrraj Fjgablerents
(©)  Lewr oSésib. D)  aufl s

34.  The Chairman of t'he.fourteenth Finance Commission in India
(A) Dr. C. Rengarajan f | -(B)' ‘Shri. Vijay Kelkar
© Dr. AM. Kushro @1 Dr.Y.V. Reddy

LHenranaraug Qbdlu B @paien g,mé)mr’r- . _
(A) Dr. C. Qurtsnrgen (B) Shri. afigus Qadsmi
(O  Dr. AM. @eisQyrr - (D) Dr.Y.V.GQrly '

GS1902 — C16



35,

36.

The planning' commission of India was changed as NITI AAYOG in _ ,

(A) March, 2015
W January, 2015
© D_ecember, 2015
(D)  April, 2015

@5@@@@ - 10 110 - LOTGLD aumagld BF Cung eramm
mrr,r_i)g)_uul"_pg; | \ |
(A) womrg, 2015

(B) gerafl, 2015

L (C)  wsbuf, 2015

D) gurd, 2015

The LPG model of development was introduced in - ~-- by the Finance Minister

W 1991, Dr. Manmohan Singh
(B) 1995, Shri; Pranab Muharji
(C) 2000, Shri. P. Chidambaram

(D). 2010, Shri. Yaswant Singa

SIPTETOLIDIEESD, SLTTOLIDTEESE, ;masmu_u,brré;@g,d) Wpeen eueniss) : b

pemg e SIUCUTagIL B BienFFT steufigearmed SiflapslLHSSILILL S

(A) 1991, LrsL . wanGuorsen fi
(B) 1995, & Qyewtrl) apaigd
(C) 2000, &m. P. Azioumb

(D) 2010, S, weigaus a.ﬂeisrés_rr

i 17 ' GS1902
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37. Indian Constitution established parliamentary form of Government on the model of
(4)  Swiss model |
(B) Canadian model
(C) American model
W British (Westminister) model

BBHu sirflueely umTTEswen srsmhEsSbE wrdflure orGags Qesnam.g)
A)  sefled apenp | |

B) seampenp

(C) =Gwiss apen

D) @rdorsg (Qeusv BefeviT) pen

38.  In which schedule of the Constitution the recognised 22 languages has been included?
(A) 6% Schedule {B) 7t Schedule
@ 8 Schedule (D) 9% Schedule

Sirflwaeanolntld erbs oL cuameanruie 22 sitidafss u L Qumflad GoradslulHearenar?
(A) 6 aug uligue B) 7agyuliqud
(C) Beug ulgue D) 9agy uligud

39.  Which of the following is not included in the state list in the Constitution of India?
(&) Police '
(B) = Public order
(€) Prisons
(Ef Criminal procedure code

@Edw ‘-gs;r#]u_léummul&]m Ly Speupuemeudmer wrBlel Ll gweld @b QuDTss ag?
(A)  ameud Hevw

(B) Qurg sienwdl

(© éﬂsm,ryé&ﬁsmw

D)  @ppetiu oA

GS1902 | 18



40. The idea that Indians should have a constituent éssembly to frame a Constitution of India

was initiated by _
(A) Rajendra Prasad B v’ MN. Roy

(©) Jawaharlal Nehru ©) B.R.Ambedkar

QidurelpE @ Srfuamoliou o @uTsGuUSHEG DTflud Hieru sousmu EmBSwirser-
QupBHEs CauamBid aTamD SHSMS ApHen PSe Fmbluseul

A - mCgedy Gyars . - (B) enb.erén. gmis

C) gaaniord Com - D) 9. . SDGugsi

41,  Which one of the following statement relating to Executive Magistrate is not correct?
(A) Executive Magistrates are appointed by the state in consultation with High court
(B) Executive Magistrates are subordinate to the District Magistrate

VE)’ Order made by an Executive Magistrate is not subject to revisional jurisdiction of
High court

(D) Executive Magistrates are quasi-judicial

Gewpgep BELSH Agm_Tuns & psatL fabs e sabgl sflwrensen? | |

Q) Qsupgeop BpHudser o e wihdl eI sopsrCandlss  wrfle  igETd
BudssauBémmt ‘

(B) Qeupgm@p f,ﬁué\a;m WreuL L 5@1.1515@&@ genasT Elencoudled o erareuiTEeT

© Qsupgeop. fHufure GpulssiuBn  essre)  ewifdl  waw LD - POE
auOue@®&EE UL :

D)« Qsupgienp faudaar Bsgienm Gurrﬁm uesfludeér 2_arGerm

42, Chsiirman of the First National Backward Class Commission was
W Kaka Kalelkar : (B) Yugandhar
(C) John Mathai (D) Madhu Dandavate

Ggéhw DHLLCLTT Ba) pepRTUSHET pHeD Saaeuit
A)  sreratCadsTd (B) u@aﬁgﬁ
©) SQITGHT DS : D) g sam Gy

® | 19 | | - GS1902
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43.  The salary and allowances of the public prosecutors are given by
(A) High court or Supreme court
‘Bf Central Government or Staté Governments
{C) = Dustrict courts
(D) Magistrate courts

278 U sEdlesflen eardluib wHyb @gquullora;a)a'r GULDEIG GG
(A ewhBHwampn sdos o sshfodann

B)  epow SigFmisD HdF T .g[rjsrrréjﬁréd_a;m

(C)  wreulL fHwerprsser .

(D) wrBewHCr fhwemmriser

44.  According to the 74t Constitution Amendment Act, “Metropolitan area” means
W An area having a population of 10 lakhs or more _
(B) An area having a population of 5 lakhs
(C)  An area having a population below 5 lakhs
(D)  An area having a population below 3 lakhs

74™ sipfluemoliy Hmsss & Lgdld i liuam il “Quamnnpsrm’d uEs” aemg
4) 10 Qe s a@bmgﬂ SIBDGD CHLL L 1nésaT Asras AsnarL ugs

(B) 5 @elsb mé&d‘f@gnma Qareim_ u.@g‘,l

(C) . 5 Qe ss8D@ Gampaurear wiser Asras AsTamL LG

N E BoLlssdlbe Gapeunar wasd Qgrams Garar_ uEs

45. The institution of Lokayukta was established first in
(A) Orissa - (B) Rajasthan
(C)  Andhra Pradesh @ Maharashtra

Ceond U IEST SEDUL] (LPSEHT PENDLINS ﬁl@mauLL LDIT‘I'_[;']GDL'E).
(A)  efler (B) rprgevgmes
(C)  pdr ICsed (D)  wewryreglyyr

GS1902 20



Match the following :

Committees : : .Pur_pose : _

(a) Balwant Rai Mehta 1. Revitalisation of Panéhayat R.aj Institutions -
Comunittee |

() Ashok Mehta 2, Rural Development and Poverty Alleviation
Committee : |

{8 GVK. Rao Committee 3. Examine. the working of community Development

' Preogramme | B
(dy L.M. Singhvi Cbmmittee -4, S_trengthening.the Panchayat Raj Institutions

(@& O (c) (d)

A 2 1 4 3
®B 1 2 3 4
3 ” g 4 2 1
D) 4 3 1 2
Yeneu(meiaTaupenn CLmmEss :
G(pSeer - . GRrssw
(@) udsumsomil CoSET G - 1. Lghemuss! Trsh Hlneuarisamet Cugid LelLBSgse
(b) =Cars Cuwagm GUp 2. oarps Guobur® whmpib eugenn gl | '
(©  22.69.Cs. yre G 3. gapsmu Gubun H HU L e QeudLm@semer
TS |
@) ereb.ord. Ara @op _ 4 HEEFTLES TR Hpeuahisamar LaluBHSHISe
(a) ®) © (d
(4 2 1 4 3
B) 1 2 3 4
3 4 2 1
Dy 4 3 1 2
21 - _ GS1902
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47.

48,

49.

The chairman and the members of UPSC can hold office for six years or till the age of

which ever is earlier
W 65 years - (B) 62 yeai's
(Cy 60years : : (D) 58 years

wiHus Coraureamug goweat whpd e mlfeniseian uaisarab N PHTHST DDRG
auwigl. Geuphbled 618l psedir auENCHT DiFe Lig.
(A) 6BS5auwg (B) 62eawg

(C) 60 cuwg D) 58auwg

There are 8 mango trees in a straight line. The distance between each mango tree with
other is 3 metres. What is the distance between the first and the eighth tree?

(A) 24m | W 21m
(C) 30m D) 27m

8 wmoghiser Oy CpiGsmiie 2 arng. gatanm wrsShEn G Cuulder grb 3 & eaefled
@ogm.rra.lgg whb e Lmeugl wislna e Guiu|erer gupb?

(A) 2448 (B). 218
(C) 308 ! - D 2718
1,4,6, 9 11, 14, 16 next to 16 is

e 19 To® W
© 18 o) 16
1,4,6 9 11, 14, 16 16 i ne cumas
@ 19 ®) 17
(G 18 _ D) 16

GS1902 22 o e



50.

51.

52.

A man can do a work in 3 days alone and a women can do the same work in 9 days alone. If

“both are work together in how many days they finished the same work.

A) % days 5 ®) 6 days

W _Zidays D) 3% days
QRH < oM Carmaw gaflwurs 3 brn'.&.aﬂsb apryount. $Gg Ceaumaamu g Guer gaflluns
9 prsafléd @iy umt. HACs Caumeamw Gmeumb Geaanbs aggenear HLsafld wprLLImiaen?

(A) . % [BITL_&aET B) 6 pri s

Cy 2_1_ ‘[ﬁﬁﬁ_ﬁﬁiT D) 3-;—(5m'_56ir

Work in a fort 300 men had provisions for 90 days after 20 days 50 men left the fort. How
long would the food last at the same rate?

(A) 160 days B) 210days |
@f 84 days (D) 80days

(5 (Basm_ml_u_(ﬂa) Ceuaned LIMTEE@GLD 300 wailsisends 90 prisenss Cemawre gmrm Qumgmar
2 ararg). 20 prsEné WnE 50 Guir Geenmeil e, LSHApATET 2 arTa, eTHSEMET GIL.-GEHEG QIGD?

(A) 160 prlser o (B)- 210 prisen
(C) 84 pmise . D) 80 pm et
Simplify :

/729 ~¥27 + V_

3512 +%/343 = 256

™\ o 2

10 _ ‘
9 ' 12
©) T | 3)) 0
SHESS
¥729 - 27 + %/_
V512 + Y343 - 4256
' 11 ' 10
(A) 0 _ : B) 11
9 1 12
FC) T (D) I
23 GS19%02
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53,

54.

55.

How many years will take certain amount to double at 8% interest per annum at simple

interest? - . : .
(A) 13% years \@f 12% years
< 10 5 years ' (D) = Y9 years

@@ Qgreos yamndE 8% saflaly cssHed 2sdgrasawiCurd @@ wiksTdpg craflé

T (N&gI6 QETaT@pd smeth
@A) 13} gam@ser ®) 121 syarpaer
© 10} syl @) 9 yein@adr

Surface Area of a hemisphere is 2772 em? then the total surface area of hemisphere is

W 4158 cm? | ®) 31727em®
cm 4258 cm
(C) 3882 cm? (D) 4258 cm®

@ SienrCaTergSean auenetTLL 2772 Qg8 ereflcd aénﬁ(‘é&rrm‘é‘,,é,leh Qorgs yprury wrg?
(A) 4158 Qa8 | (B) 3172GQs.&
(C) 388205 | (D) 4258 Gz.5’

Choose the correct option to complete the alphabet letter series
. ABA. CABC _ DCBA __BAB _ A

v ABDCA (B) BCADC
(C) ABCDD | (D) CBDAA

Aer@ssiiul L ide awss Asrih aflwsow Hone; Qeuub shure  aflelaws

Cabghesaln

__ABA _CABC _DCBA __BAB __ A

(A) ABDCA (B) BCADC
(C) ABCDD | (D) CBDAA

GS1902 - 24 : .



- 56.

57.

58.

243 Bx+9

Simpli
: 1mp fy: -1 x%4x+1
_ L N
(A) 34l | (B) 3.x+1
© 3x-3 | o 1
. : . . 3x -3
-_&é;g_x+3; 3x+9
'-®@_‘x3—1'x2+x+1 :
(A) 3zl {B) 3x.+. 1
_ ' : : . 1 : ' %
C 3x-3 . : ' - {D : ' :
(C) x -3 . | D) o

. Sasi purchased a house for ¥ 27,75,000 and spenf T 2,25,000 on its interior decoration. He

sold the house to make a profit of 40%. What is the selling price of the house?
(A) T 31,20, 000 . o : By ¥ 36,00,000

v T 42,00,000 | (D) ¥ 48,00,000

s em &fler T 27,75,000 a;@ mrrrmé]mrrrr ey e Lyphisemar. T 2,25, 000 & &@@u@gﬁl.
i@ 40% QorusHDs sﬁ?mg)rrrr eTaled cB-I‘I_'F)ﬁ e 1q e el Liena sllened arean?

@ ¥ 31,20,000 ' (B T 36,00,000
(). '% 42,00,000 | (D) T 4800000

Simplify : (1350 + 15 — 5) + (47.5 — 15 x 2.5)

(A). 85 = | | (B) 10.5

© 10 - &7 85
s ¢ (1350 + 15 —5) = (47.5 ~ 15X 2.5)
(A) 85 | | ®) 105
(& arel VML ™ 85 .
25 == - " GS1902
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59.  Choose the correct option to complete the alphabet letter series.
AB__B,BC_C,_AB_, AB_B

(A) .CCAAC | ~ (® OBABC
W@’ CACAC (D) BCCAB

Qer@EsuulL %maﬂm apg degrii afimsou Heapey Osuub slurer el mws

Carplshés.

AB_B, BC_C,_AB__,AB_B

(&) CCAAC - ®) CBABC
() CACAC | (D) BCCAB

60.  What should cbnie in place of the question mark in the following series?
24, 536, 487, 703, 678, ? '

@& 7136 L (®) 842,
W’ 742 | D) 836

Aemaugnld ereir Agm_fc Gaerells GHluflL @) sl auGeueirg.w eremr eg;?
24, 536, 487, 703, 678,? ' '
Ay 736 . ' - (B) 842

O 42 I (D) 836

61.  Sum to n terms of an Arithmetic progression is 2n? + n 'th_en eighth term is
(A) 136 ' (B) 36

© 131 e 31

S® &L_B$ Asr_it cuflenslen n o glisefien sBed 2n? +n araflé) Sigen e Lmb o piriL) arg?
{A) 136 ' | B) 36
(© 131 (D) 31

Gs1902 | 2% | o



- 62,

63.

" 64,

d,b,c are said to be iﬁ Harmonic Progression if their reciprocals'l, %,% are in Arithmetic
 progression. What would be the value of x for which 3, x, 6 are in Harmonic Progression.
@) 4% | o v 4
© 5 - S D 5%
a,b, ceraﬂ;o ey cTamssr. Qeass Gpm_d SinpAmss aeu,rp,r_ﬂsm gmw&@sm E % = gy fluar
a
aau_(Bg; Qg ammp@@m Causrid, x—ar eTHs LHIEDNG 3 x, 6:2[,&]!1.!6“ Blensd G,srra_ﬁlm
SHEDIDWYDT? . :
@ 4% S ® 4
© 5 | - D) 5%
Value of JS 1]3 1}3 -J _
\m’ 3 | S ® infinity
© o o 7\ ® 3
B \/ 3. 3 3 o Loﬁuq
| B gpysial
© o D V3
Introducing a gn'l Raj sald “Her mother is the only daughter of my mother- m-law How is
Raj related to the girl? oo :
" (A) Uncle | ' ' _ | Wf Father
(C) Brother - (D) Husband
@@ Quaneer [TR erémLeuiT &m@m_u.l DIDLOT srsmg,; LnrrLﬁlqur@a;@r, @Gg e eTew
SPpaILBESEDTT erafié @IGUETENNE T crater 2 pey
(A) LD LD : (B spop
(Cy &Cangri ' S (D) aewteur
27 . _ . GS1902
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65. A fraction is such that if the numerator is multiplied by 2 and the denominator is reduced

by 4 we get %}— , but if the numerator is increased by 6 and the denominator is doubled we
11 . .
get 1’ what is the fraction?

@ - \_61'5

5 __
© 2 S o =

17 21

'9@ QenangBen AgrgHea 2 e Qumsduyd ueHSHhs 4 Bs GOPSSTD flen_s50QUmID
' Qénenid %, e 2Gy Ueanangdar Qgr@Huer 6-g5 sy, LGHowu G oL hisrsdeatia

Hensa1GQLmD Denard % araflé) Bips Aerand eraben?

: 7 5
‘ (A). 3 (B) =
©. T (D) 21

66. A boy cut a sector containing an angle of 140° from a circle of radius 15 ¢em and he folded

the sector into 2 cone. What is the curved surface area of the cone (ﬁ:i—zJ

(A) 572 sq. cm (B) 527 sq. cm
W 275sq. cm _ (D) 257sq.cm

15 Q&5 .ﬁ,ry@perrerr @b aul L s8lembg 140° enowisEGamentid Qe &0, eulL_&CamerT ) u@ﬁlmu_l
@R wrareus dan_yQuifss <iser rtismen @m@mm::s@j @5 FlbLnsHene, a&lau_a;@m

Fa b6 QUENETLITLIL) eTehiar ? [:r **2'&7%)
(A) 57250+ 8 _ ' . (B) 527s Qs.15 .
(C) 2755058 (D) 2575Qg.8

67. If radii of two cylinders are in the ratio 5 : 3 and their he1ghts are in the ratio 3 : 5 then
- ratio of their volumes is

(A) 5:5 | B) 3:3

€ 9:25 | W 5:3

Qrar() o_(menatsatian %l;rrma;mﬂam Gﬁ]éﬂg,m 5 3 er@Teytd Hyeubblesm au_n,rrajasaﬂem Gﬁ]é]g,i.n 3:5 GTGDTQ.|LD
@96 2ieupden sen eraysaien eflflsib erenen?

(A 5:5 . _ By 3:3
C) 9:25 ' D 5:8

GS1902 | 28 = - o



68.

69.

70.

Product of two ‘positive number is 34560 The LCM is sucty times of its- GCD Then the
dlfference of LCM and GCDis

1416 L ® 1424
© w160 . (D 1464

Q@ Wena erarraeien Qumsssd Lo 34560 siger B.Qum.o LCM) Dy Bipen 5. Qur.au (GCD)err
60 LR eraflad S5.Qum., B.Qum.au maﬁ]gﬁun&m

(A) 1416 . B 1424
©) 1460 @ 1464

Find the compound interest on Rs. 31,250 at 8% p.a for 3 years compounded annually"

A Ra 8006 ' - ®) Rs 8106
(® Rs. 8096 | < & Rs. 8116

- en(EE 90 Qpanﬁ) QL iy &;rrgufo wopldod @. 31,250 6@ e ey 8% osb eafléd

3'%@35@%& Sl (B ety ST
@A) - @ 8006 | | B) @ 8106
©) 8096 . D) o816

A nu_mbér 18 increased by 10% and then decrease by 10%. Fihd the net decrease percent.

WA o - o 1%

© 2% D 8%

@ crarenflen I er 10% salt Geuar(Htb Bigemens ASTLHE aubg_érsmmﬂm AN mHS
10% @eopped Hor &b Hlay Gona spelssmss SaTE Ny |

A 0% | o ® 1%

© 2% - | ®) 3%

29 S . GS1902
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71. A school boy walks from his house to school at the rate of 4 kmph. He reaches the school
20 minutes earlier than the schedule time. If he walks at the rate of 3 kmph, he reaches the
achool 20 minutes late. What is the distance of the school from his house?

(A) 12km
(B) 480 km
(©) 21km

w 8 km

@ warell wramadr garg I ydmby vdreismglpeg 4 &.85./vef eremp Caussdd BLBS
" Qeanprey @RLEGCL Grrsdne 20 O hisEhEE werureCas QeanpeLforer. ety Caishd
3 &.8./wenf) am;ﬁ]@mgrra) 20 HBL s sMogons QenpenL_curen crefled aﬁl_q_aS]@;jgd udrefs

SoL_SHDE £_aTer RO eTeUCUETERY ?
A) 1248 '
B) 480 4.8
(C) 214.8
D) 8448
72. If 2-(2:‘71+ ) " 7(3:? ™ =% and 23:_;33, + 33:23’ =2 then values of x and y are
respectively.
w” 21

B 12

Gy -1,2
@M, -2,
2(23‘:1-'. 3y) + 7(3::% 2y) = -;- LoD o i 3 + ™ f % =2 eafled, x, ¥ - & wHUyEaT apannGuw
@ 21 o

B 1,2
e -1,-2 ' '_ - o | .
@ -21 _ ' : .

GS1902 : 30 - @



73.

74.

75,

I river is called the ‘Red river’ of India.
(A) Ganga _ S (B) Kosi _
(C) Damodar - . M Brahmaputra

_,_—;..%mrrcmgj Sigureder ‘feuriy g’ arar simpssLLGEpg!.
(A) sums . (B Gsné
C) grnGuomgr : 5 = (D) Qmbwoygrr -

Identify the incorrect statement from the following in respect of seismic waves
(A}  Primary waves pass through liquid and solid

Wf Primary waves are highly destructive '

(C) Secondary waves cannot pass through lquid

(D) Surface waves are long waves

Hefwdiey Simasdt Gilss Spaam améguitisEser SeuDTar Qeian SienLLimerid SRS,

A ppatenio sj@esar AL ppub Syeuts QUL samer s mayib Fenew QsmaRTLgl

B) (seens Siwasd AUMmSS Copas elloarelssssl Lg
(©) @remb Hene s Fiyeuidens earbiheu RQuierg
D)  yell Guopyp Sieaset BLLmaser

Tea gardens over small mounds of this region is called as ‘Bheels’ - | _ R
(A). ' Brahmaputra valley of Assam ' '
\@f Surma valley of Assam

- (0)  Western Ghats of Tamil Nadu

(D) Western Ghats of Kerala

Am @é&@j&dt Bgycirar @augﬁuﬁw Caulener G use SdseT cram SianpéaiuGdemen.
(A) _ &dﬁmumﬂeh GiypbwugHrT uaTeTSETES UGS - ‘
‘(B)  sieveumbler &r‘r@rf uﬁmﬁgn&;@u@ﬁ ‘
(© sOppriipen Cupe Asm_iisé et UGS
D) é&gweﬁlm CupE G]g;rr;.r'r&él Loenat] u@ﬁ

31 .  GS1902
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- 76. In which of the following option, the Indian states are arranged in descend.mg order based
on their size of population?

(A) Uttar Pradesh — Bihar — West Bengal — Maharastra_
(B) Bihar — West Bengal — Uttar Pradesh — Maharastra
“@? Uttar Pradesh — Maharastra — Bihar - West Bengal
(D) Uttar Pradesh — Maharastra — West Bengal — Bihar

Glereusid  ereupmier wESLGgTMms snqlueLutd @Sl wrflodisda @okg famsulio
S| ESILIL (HaTeran? :

(A) a.;sﬁmﬁlr;@g,ﬂb ~ Sammi — GopEeuisd — WwepTTTeyl Fb

B) JSaori - CopGeuksd — 2 FAmAgGsan — LDQ.[D-I'I'I;I'I'I'Gi'q;I.q.lJ'Lb '

©) 2.58n%Cssbd — waprrmayk.gb — SapmT - CoHEaukisd

D) 2.58n95Csab — apTITEsY 7D — CLDHEGERISD — ﬁém'rrr'r

77.  Match List — I (Planet) with List = II (Moon) :

 List—I . List-II
(a) Jupiter 1. Triton
(b) ~ Saturn 2. Miranda
(¢ Uranus a Europa
" (d) Neptune 4. Titan
@ (B (© (d)
(A) 3 2 4 1
B 1 3 2 4
w 3 4 2 1
O 4 3 1 2

uiguid ~ I (Ganar)gg Liiguie — 11 (fleor) o e Qurr@{sg;;a;.

U ig i - I uCiguwiey — I1
(@) eSlwmper 1. Cenpunmen
(b) sai ' 2. WSy FefTIT
(€ wyCreren 3. wGymium
d) Gpluguper 4. EOL_L_TeH

(a) (b) © (d)
Ay 3 2 4 1
By 1 3 2 4
(Cy 38 4 2 1
D) 4 3 1 2

GS1902 sz - ®



78.

79. -

Y

Match List — T with List —IT: | |
List - 1 - . List-II'

: International Airport - :  City
(a) Dr. Babasahe};m Ambedkér 1. Gauwahati
(p) Ch. Charan Singh. 2. Varanasi
{c) Lal Bah_aduf Sastri 3. Lucknow
_(d). - Lokpriya Gopinath Bordolio 4. .Nagpur
@ ® © @
@ 4 2 1 3
®) -3 2 .4 1
©) 3 4 2 1
w4 .3 2 1
I_Il'_Lq_llJGi.).— I g Ul iquwie — 11 = _éh QLITBESS.
U gwed — I . N X U iquicd=IT
&r‘reu@@&_aﬁ]'mnm Hleneoib ¥~ [BABILD |
(a) .' LO&LIT urrurr&rr@a;ﬁaub@ugafr' g .G seann s
®) Ch opairfis 2. WP Syemns
(©) - @mé LsgT FrevSHil ) PFasd. . w&ECem
(@ Gaurraslﬁlrﬂmrr Gan@mngurrrr@ursﬂmrr 4 BELT
(a) (b) (©) (d)
g 10 3
B 3 2. 4 1
L (€ 4 2 1
™ 4 3 2 1
The longest Inland water way of _India. is
(A) Kurnool - Cuddapah Canal (B) Damodar Canal
(C) Sadiya—'Dhubri Canél ) | Wr Holdi_af-A]lahabad Canall
- @;ﬁﬁunaﬁ]eﬂ B fsaﬁmrrem 2 GBI ﬁnm@]u urramg,
(A)  &fmned - SLULT ST (B) g,rr(%wrrg,rrasm)mrru_t -'
(©) _ &wqmw—@nulﬁlﬁl &.rra)rsurruj_ - (D) @D uIT — SQSTTS STEeUTL
33 I GS1902
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- 80. AsonJanuary 20 17 who is the all- time highest goal scorer in World Cup Football"
W Miroslav Klose - ; (B) Lionel Messi
(C)  Christiano Ronalde. .. = . (D). Neymar

genauf 2017 cueny 2 evass Gamienn 5ITQ'J.I_.I{_'5§| augmhHHled 2ifls CaTdssT Bigdsar u.rrrr'r_"?
(4)  OCGgrevereu &Qarmein (B_) Curare Quneend '
(©)  AdlevigunGer GuramaGLr - (D) Apuiwi

81l.  When the frequency of an electromagnetic wave and ultrasonic wave are same, then
(A)  their wavelengths should be same
\Br Wavelength of electromagnetic wave will be more
(C) wavelength of ultrasonic wave will be more n
D) wa‘velength of electromagnetic _'vfrave will be less

Sler sMhs sieauTen a@n@mm@m WRAwmel ieneuie a@n@mm@jm RADTE @@a;@w(surrgu
A) Qe sewaufen si@mbend SowTED

B)  WenaThs simauicn semeBerd BiSsions B)msEth

©) BSQuned =ewauien sieeford .gfq_ﬁ&mrr& BmEGED

D) JDensrpg ieauSlen Si@aBemd Gmpouns @@GSED

82.  The first Indian-American woman elected to the U.S. House of Represeritatives is

(A) Ananda Chﬁkrabar_fhy (B) Jaishree Odin _

(C) Bjarati Muharjee g ;" @5’ Pramila Jayapal

2Quilés gmadu :Slt;r‘é)]‘rf,]ﬁsm FEOLISE, Gg,np@g@a;esuuu_ s @mﬁlm culb&maef] &Gmsﬂa&&u

Guesroewf] . _ '
A genps ssTuigs =N (B) @awﬁ P

(C) Qe apsirssl E D) Anderr Ggguumred

83.  Which film bagged the best forelgn language film in the 88"1 Academy Awards in 2016?

(A)  The Revenant - o (B) Spotlight _
W Son of Saul -~ (D) The Woman who left
2016 <@g 88eug HsrQLLA aﬁl@g aJEpraJ@m eflipralléy él,rppg giaraflw Gl ut_gﬁmsrrsur
aflamg Qupp SevgliL b
&) @ QrauQanen ' ) B LT et -

©) songylisnd | (D) A ajwér an® Qo

GS1902 | ~ 84 e



84,

85.

86.

87.

Name the -country with wh1ch Indla mgned a c:ml nuclear co-operatmn agreement on
9th December 20186. - :

W Vietnam. = . _ o ' (B) South Korea -
(C) Nepal . _ _ _(D) Russia

gabui 9, 2016-e @pﬁun Halflen &@:&a‘a‘é,} @wmguq @uupgm Gl&u_l@ Qa;rrmn_ [1(C)
(A)  eflucpmd _ - = B) Qg,w Qerflur '
(C)y Crumembd o F ' (D) pegwr

The software, ‘Hyphoguard’ which safeguards data even when: the computer is on sleep
mode was deveIoped by

(A) USA - . ® Japan
4 Cana'da | . ' (D) China

safienfl guia ;Elemmu&la) EHESD Gun@m DIBEYET 2 ¢ira g,asmmmm urrg,ja;rra;@m @mm@lun@m '
‘Hyphoguard’-g 2 pairs&w prH

A)  =2QwhsEs psdu FTREE B %uum :
© _SGML;W a D) Sam

India’s first raillw'ay university will be set up in which city?
(A) Bengaluru . . ' " BI" Vadodara
(€ Varanasi ' ' M) Kochi

@nSwmeflan apge TulaoGeu udJa_;a)m.%asgpé;Lb érréx@léqsnmaﬁlmg]?
@) QuEses® N - B «uGgrspr

©)  ammmd | D) Qsnsdl

'The book “Modi’s Midas Touch in Foreign Policy” was written by

W Surendra Kumar . . (B) Dr. Dhrubajyoti Borah

- (C)  Shashi Tharoor E ) "(D)- Sunita Narain

“Qeuefipm’ B Qsraransuiies Gomguden Blre L& Grén Ligpasms eipduieui
(A sCrpdly gond R B) e SrunGyrd Gumgr )

(C) =& grewir : (D) safgn BTG
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88. In which pIace the Central Government has proposed to construct the International
contamer transhlpment terminal in Tamil Nadu? '

(A)  Ennore, Thiruvallur District (B) Cuddalore, Cuddalore District
' W Enayam, Kanyakumari District -~ (D)’ Nagore, Nagapattinam District -

shlpagsla Log,ﬁlu_i arf&rrrmag,grra) Q.pm@mrrgﬁlu_luu CHerer weenm (B QUL &S slu6) Gurr&@a.njgsgj
@mmum ieLOWIGIETaT L Lb? - '

(A)  Tamgnit, Hmeudreneurt oreul (b | | (B) &g, sLeni Lorrsuu_Lo

(C) eraemtwilD, aaGEnsuﬂu_lrr@Lorﬂ wmeul L Lb . (D) prsar, BASLIULIG&ND Lomeul_L LD

89.  Match the following (As on Aug. 2016) :

Governor . State

{a) Najma Heptullah 1. Kerala
(b) V.P.Singh Badnoro 2. Assam
(©) B_anvéarilal Purohit 3. - Manipur
{d P. Sadasivam 4. Punjab
@ (b (c) (d)
4 1 2 4 3
@ 3 4 2 1
€y 2 1 4 3
D). 1 3 2 4
Quirrsas (psavl. 2016)
S el _ omHlad
“(a) ;_r;g'gmrr nglilgjd_)surr 1. Camerm
{(b) V.P.Am uCGgrA 2. S|FTLD
© uweraufleored ngn@lL -3 Looov_sﬂula;r'r
(d) P.esgréleud | 4, LigharLy -

(a) b (o (d)

(A) 1. 2 4 3
® 3 4 2 1
< 2 1 4 3
™ 1 3 2 4
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91.

Match the following (as on July 2016) :

Ministry . -

-~ Minister
(a) Prakash Javadekar 1.  Railways _ .
(b) Smriti Irani ' 2. Human Resource Development
(¢ Venkaiah Naidu 3.  Textile .
(d) Suresh Prabhu’ 4.  Information and Broadcasting
@ ® © @@
v 2 3 4 1
® 3 2 4 1
0 1 2 3 4
D 2 3 1 4
QurssEs (g Ome 2016):
DIGVLOEFST ' DIMDEFFHLD
(a) Jdpsres 'ggmG:L_q;r'r 1. BrlaGe _
M) eodfd Grreeil 2. maﬂgmm Gubrr
(@ - Qastiersiwir pry® 3. mayafl
L (d)  #Gpey 9Dy i/ g,a;a.léb' pelupL
@ , b © (d)
@ 2 3 41
® 3 2 4 1
© 1 2 3 4%
@ 2 3 1 : 4

Two ¢oils are placed close to each other. The mutual inductance of the pair of coils depends

. upon

(A)
B)
(&)

Nor

the materials of wires of the coils

the currents in the two coils

the rates at which currents are changing in  the two cmls
relative posmon and or1entat10n of the two coils

Epesr(® HbIS) SH(HETEHET @m@&@&nmgy én@és'isu msua;a;uu;@mmgj @uarr@ a;mlﬁl &@GT&@&S@

A
(B)
(O
(D)

GenGu o em_ngid Lflorby engrer mmg& sTiBEHESD?

smeT Qe L e GorssHlen seardmenul

smefie Ly WaGam' L g

@yan® spefia Lmb \ienGaorm LS Hlem siarenau wrhmih Gung)
s(matlen smiLy ‘ﬂ@wmu_lul.b, é@e&n smiley Flevewenwuib QLSS

3.. 7.

GS1902
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92. In which sport dld Harshini of Thlruvarur won the world Champlonshlp 2016 held in

Russia? - _
(A) Ca_rrom (B) Swimming

- ¥ Chess - (D) Snooker

C 20160 e pegwimelled '|]5|_'r_r,§ Grpag a&lsmaru.rfn_tq.a) @@am@ﬁ)i,r& Cairps gmmﬂaﬂ 2 0%
FmbiQwenafis L Sang Qeuenpri?

(&) Gamb B e
(Cy sgpdusd . D) sassm

93. Param-Ishan is a _
W Super computer : - .(B) Mini computer _
(C) Micro computer - (D) Main frame computer

UIFD-@)GTEsT GTeLIS| (T . _ o
Q)  @uui saflad _ B) e saflef
(C)  ewslyr seflef [l (D) Qumapss safiaf

94.  The “First International Yoga Day” was observed on
(&) July 21, 2016 | & June 21, 2016
(C) September 21, 2016 ‘B (D) August 21, 2015

2 wdler “@§¢ Curan fland” sigusfssiu L prar
(A meeow 21,2016 . (B) grer21,2016
©  Qeiiibui 21, 2016 (D) e 21,2015

95. India’s ﬁrst indigénously constructed nuclear submarine that was commissioned into service
in August 2016 is :

(A) INS Vikramaditya ' | (B) INS Viraat
(C)  INS Sindurakshak - @7 INS Arihant

@g,é\mncﬁ]m Q_GT‘EFI'LJQ_GQ)GUJ 63L..L_.66)LD585LJLJL_@ 2016 DpEHEOL. uarrgm G&msuuﬁ]m @mm&;&uul_l_

2ign B appd) sl T
(A) o.oenerdv efGrordsun _ - (B) g erenerev sligml
©  gpadneav Abgrsags - D) g 2ifanbs
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96,

97.

In 2016, Adani Green Energy Ltd setup India’s largest solar’ power plant in

V{ Tamilnadu

. ©

K‘arnataka

(BY Gujarat
(D) Maharastra '

201660, sygrafl gL %mm eIBQLL, @pﬁmmﬁ]a‘r L&&;u Quitw @rﬂu.l &a;ﬁ D,MOVIGDT @M@ N

LW

E ammgﬁ@&ﬁgpg
SOPBTH
(C) aimm_snr

Match the following : -

- (a)

Film director

oW R e

s o B

(a) LavDiaz
(b) George Miller
{© 3 Alejandro G. Inarritu
'(d) Nahid Hassan Zadeh
(a) (b). (c) (d)
w3 41
B 1 2 4
(0 . 2 3 1
o 3 1 ala
Gun@ggla;:
LILLD BwEE BT
@OITEL g 1LITE .
M) QIiTER Bévevit
(c) s Gy G. @GﬁTrﬂl_@
(d) prad’ eorser G
S @ © (@
@ 3 4 ]
. B 1 - 2 4
© 2 .8 .1 .
- (D) 3 1 2

ok R B

PE’-".N’-!"'

- ®  egE
(D) wamreygw

Film

" The Revenant

'Ar‘lother time

" The Woman who left
Mad Max : Fury Road

UL

8 NouGeein”
SIS d)_l_Lb :

& ajwen e Qacit

. Gl Gngenv oL GIEI'ITL'._

89 o  GS1902
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98. A convex lens of focal length 40 cm is in contact with a concave lens of focal length 25 cm.
The power of the combination is

wf _15D | ® 65D
(C) +15D | e D) +6.5D

40 Q&8 @Gﬁlu_lgngm 2 e @eﬁaﬁlmmmmm 25 Q&b @ewugmbd o e @l(.ﬁl eflévanevuyLeit

SLHDAurips ghuipid @memulﬁlm ‘Qg)mrrmg —— HBWb.
(A -15D e (By -65D
(Cy +15D - : @) +65D

99. Wthh of the following has the least wavelength?
' W X-rays (B) Microwaves
(C) Ultra Violet rays (D) Radio waves

Sipaasent_ecupdld ereney &S GepNHES Bienew Emlé)wg,-aml_u_ismm'P
A X-gdiiger - _ (B)* aw&Gymr énemsuassn :
(C) up casrs sfisdr (D) Coig Guaw &mma&m

100. Ozone layer of atmosphere absorbs :
(A) ~ Visible radiations (B) - Infrared radiations
W  Ultraviolet radiatiofll, " (D) Radio waves

auafliarLevsHld o arer pbsma UL b s Brdsgé Qeneardng?
(A saranm e (B) . =is& Aauli sHTaeT
(©)' U pwans sditaer (D) G Cur seasar .

101. Aradio active element “X” with a half life of 2 hours decay giving a stable element “Y”. After
a time of ¢ hours the ratio of atoms is 1 : 7 then, the value of

(A) 4 hours | ¢ 6hours
(C) 5hours - | . (D) "14 hours

/6D ngﬁ.ii;&rreum 2 wenfl Grmb aram. o sffluss gafivn “X” g fHaosebn Haewuwrer
seflwd Y o6 wrgdpg. “t” wesfll Gpysde gaflion X wpgib Yer eflflgn 1 : 7 Grsaﬂa} t WL

. Grmmerra.a? .
(&) 4 wefCGryb | B 6 wanfGpib.
(O 5 wefiGpbd ' _ D) 14 wefCryd
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102.

103.

104.

" The compounds formed when hydrogen cor'xib'inés' with p-block elements are calléd

(A) Ionic hydrides
(_B‘)'- - Molecular hydrides .'
(C)  Metallic hydrides

' '(D) Polynuclear hydrides

- enamL_Tegen p-@g,rr@é\ SeRNORIGEH. 6T Slenambgl HHLD0 Cariwiisefen Quwit

A)  owrels ean e
(B) | ppeES DL TGV
(€C) eCaorss amaplerle

-(D) - uenplusdlefun eneml e e

~Among the following salts, which is a salt of weék acid and strong base

) NH(O n ' (B). CH;COONH,

Xef  NaCN , ' @ Nagl

&Gy Qa;rr@é;esuul;(aehm -zﬂlqésaéﬂ@. 615 maﬂmm'@mmbg sifab apaapd aslian BiGHS a;'rn;n.,b

@'m@l.b 2 (Heu ﬁamg,]?
(&) NH(I s ®) CH,COONH,
©aNe® ey (D) NaCl |

Choose the micronutrient needed for plant growth

(A Oxygem = (B) Hydrogen
- (C) Nitrogen o ' M Zine

 gmeul euaTiFSlSEGU LU0 gjai;wgmg Caipdsm
(A) %é;erﬁlg& ' _ o (B). evaml_ymen

(C) eoploger ' ' : [§0)] g,ggsfr_r)rraslh

a == GS1902
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105. The root nodules of Casuarina which are capable of symbiotic nitrogen fixation contain the

microbe _
‘(A) Rhizobium : wr Frankia

(C) Anabaena ' _ (D) Azotobacter

gal HUIA apenpuller mEngmm ﬁmmuu@g,g,jm 5945(5 (Ga;&suemuemr) Lm;r Geurr (gmq.&maﬂw o _ger

Bieirgp Al o |
(A) erGesm9uwid ' - (B) - Swugreandlum
C) enlemr _ ' O &G&WI'_GI_ITLJHS'SI__I:I‘.

106. Which cytoplasmic organelle is associated with ‘acrosome’ formation in the spermatozoa of

ammals‘? .
- (A) .Lysosome . ' ~(B) Chloroplast

: @f Golgi complex _ -(D) Chromosome

dongsdiar elipg Aod e pusdule ‘TaCrmGamd’ Grén,r_r):‘-_aimmumu a@mrr.é;@fn QEd FRTERmILIL] .

aTHI? .
(A) ooCsrGsmb " (B) ushsesfisn

(C) QGaroens e giisar - 1 (D) ECrmCurlsmbd -

107. - Deficiency of folie acid leads to

W Anaemia
_ (B) . Mental disorder
(© Scurvy -

(D) Night blindness

CLinelié snfleghen Genpum e efleveru )b GpHmis
A)  @ris Gorans e |
®B) o Aswepp Heow

©) evaied

(D) wrees s G
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108. . A feature common to nﬁcl_eUs, chlo_ropl_ast and mitochondria is the presence of -

109

110

(A) Lamella : - By Cris_tae
‘Bf Nucleic acid =~ = — (D) Nucleolus

{A)  enrQuéer _ - (B) SflevG

©  Hysahs sude . D)  BusefCurad

Hormeone secreted in root tip during the formation of nodule is

of Auxin. (B Cytokinin

©) Zymaée _ . (D) Lipase

Geurr @@éa;&dt 2 meungd Aumpg Cailt meaﬁ&.erﬂsﬁ HTHEGD aDTTGLOTET 618 ?

_(A)- <y, Hed)ei ' - q(B) m&:'_(_.'?uvrrm&aﬂsh _

©  wgGod @ eeuCud

Metabolically inactive cell inclusions remaining in the cytoplasm is called
(A) Reserve materials
1'8(' Ergastic substances

(C) . Secretory substances

(D) Crystals

- By seflwia, Lriiseflain whmibd ot GLramamgfwredler Qumgs Leman LG Sl

- sl CLmGeresHd 2 drer Qewa Speardo Qa6 miawr 2 HILILEET eTeUsUTD a@gé&ﬁu@ﬁmm@?

@) pmss6 Gurmlsd

. (B) efsneivigd QuimmLlsen

(C) &r&EWD Qui‘r@l'_a;én_ _

D) ussdT

43
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~ 111, Which of the following is a social insect?
| (A)  mosquito - (B) locust
(C)  bedbug - - W termites

FPSTU Fal (Heumpsansd baramL 5&#1 TEI?

(A) Qsns | — (B) Qe @afefl -
O epleanOyss | H(D) SETITETEHET

112.  Which one of the follbwing is NOT correctly matched?

List] © ListlI
Hormone ‘ Secreted by
I.  Testosterone - Interstitial cells
- II.  Prolactin - - —  Adrenal medulla -
IiI. Estrogen . | Ovary |
IV. Progesterone M Corpus luteum
(A) Ionly - Y{) II only
© II_II and II ' (D) IVonly

EpseRTL_euihneT SEUDTS G]urr@g",gallu'_?l'_@shm@ GTg?

Liig e I _ Ui IT.

anmiGinmes FTEGD 2-pi/ dsdaar
I. Gl eGLmenSlig. Grmar - @G&Tl__ﬁfﬁmm Qaeser
I GG — sifend Qu@er
I erev Grrgen - _. &G&T@&ﬁ&@
Iv. L]Gtrrr.G]gsfqurrGin - SOTCILIG @M igund

@A) loc@pd S ® I o @i

© Mwpgoll _ D) IV e @i

'Gsrsoz_ | | 44



1_13.' The human population is currently exhibiting

114.

(A) logistic growth

'(Bf exponential gfowth

(C) ' arithmetic gfowth'

(D)  zero growth

;!,Léluﬁlsb WwéEaT Qgprrma; eueTT&S) ?_r,_gb@urr@gj .@{bg ﬁm@)sbméé 5ITI'_®£[D§]
&) gmﬁmm AL auariiidl R

® Aeosieh warish

(C) Gl () cuamiias .

D)  ymflw cuerigd

The antibiotic that prevents cell wall synthesis in bacteria is

(A) Rifampicin .

(B) Streptoniycin

' w Penicillin

(D')l Aﬁthracyc]in

umsle flurssaficn Gee seur &@ajrré@g,ahm &HdHEamIg W 2 1GT erdlTnq

Ay flumnb@fer

(B) e QriCLmepnden

(©)  Queldaen

(D)  pbsTTE@sseien

45 e | - GS1902
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115. Point out the correct statemeni; in the fo]l.owing :
(A) Indus people Worshiﬁéd Lord Indra
(B) Indus. civilization was a rural civilization
\@’ Iron was unknown to the Indus i:eople

(D) The ‘Great bath’ was located at Harappa

eEgpéassim_ smigisaailo sfluramss sy ST_HS.

A #];'5@ soleyedl ndsdr @gﬂumsﬁ euflut et

(B) g swdeual prafsb, @ eﬂu‘rrLo pﬁa;rﬂsLb

(C) A sisGeuchl wésdr Bobeu afposscddan
@) “@u@@@aﬂm @b, ADTILTES e L g

116. Name the social reformer who supported Dr. Muthulakshmi Reddy for the abolition of

Devadasi system

\(df 'E.V. Ramasamy Naicker
®B TM. Nair
(C) C.N. Anna Durai

(D). Natesa Mudaliar

Dr. gl sl Qrluse Coausnd papeou @iliughHe sTe) Qardss sups Sifmspeundtean - |

Quwir -
(A)  w.Qeu. rrroEmLS BILEST
B TM. pmud |
(C)  8.eren. oicqmamtT gevr

D) G s psedwimt

GS1902 —ns . 6 o



117. Which one of the following Eul_f(ipean war was associated with Third Carnatic War?

| (D).. 'cgbsfuq__ﬂu_l—lﬁh;rsi.q;w G

€4 The Seven Year's War

(BY . The Wér of Austrian Succession - -
(C) The War of Roses
(D) The Austro-Prussian War

| Spaanaruemaseiar arhs mCrmUdw GuTt, aperpmb SRHTLS GUTHL e Gl,srn_r'ruml_ujgl.? '

(A).  gyrer®u Gurf
B) yeudiw eurflafenol Guri

-(0) Gu.rrgm'_lg, Guiri

118. The State Reorganisation Act was passed in

119.

(A) - October 1956 ' (B) June 1956 |
W November 1956 _ (D) July 1956

LomBleod EranioltF 11D Qupouuci g _ _
&) SEGLLr1956 . (B x9ar1956
(C)  peubui 1956 : _ (D) gOae 1956

- Which of t’hé following is i_ncorrectly paired? :
. (A) | Mir Bakhshi . - Military advisor

B) Muht_asib — Censor of public moi:ala
. W Kotwal : = Revenue collector
(D) Qazi.-ul-Quzat ' ' — - Judicial officer

SpssramuapBld gl SIS Glurr@é;g,l;l_ul'_@ehmgj?

(A)  Brusad - @ rrgnieu .%,Gmrrmi‘r _ _
B) (y)égmﬂl;! [RCS - Qurg) LDéS&G\ﬂ_IGEIT BLSmssman SanfléEms GaiLeuir
(C) Qargeumed 3 o | =L B eugmeblueud
D) Gurad- o.& - Gaurss - £4 a[gbjaja)fr_
47 | = GS1902
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120. Match List I w1th Llst IT and select the correct answer usmg the code given below the lists :
List I List 11 = =

(a) Kalibangan 1. Gulfof Cambay
(b) Surkotada - 2. Madurai '

(¢) Lothal 3.  Rajasthan.

(d) Khizhadi 4.  Gujarat

(a) (b) © - @

A) 4 3 1 2

s 3 4 1 2
) 1 3 2 4
O 2 1 3 4

Lligwsed [ 21 én Lll_Lq.u_IQJ Ilgg Quinsdl, Ll guignseE G o eren Qg,rr@uﬁ]aﬂ@g@ silwire aﬁlml_uﬁlsmrm

Caiey Qawis.
uigwe I | Lt g e IT
(@)  sraflubisdr 1. sTHCL umeTELT
(b) &rGami L. s DG
(c) Ceongge 3. TERGM & 160
) S 4 &g
(a) (b} (© (d)
(A) 4 3 1 £
By 3 4 1 2
Cy 1 3 2 4
(D) 2 1 3 4

121. “India Home Rule Society” was set up by
| (A) Hardayal '
Shyamji Krishnavarma
- (C) Madan Lal Dhingra
(D) V.D.Savarkar

‘@i Gapmb @Gb Q&rrm&l'_tﬁ.”_ TE@ID SiELLIGU 2 HeuTSEwauT
(A)  emirgwmed _

B) - aﬂu_l_rrti)@ dlmegemreurion

(C)  wgenerd frisgn

(D)  V.D. seunitési

GS1902 . s e



123.

In.
IL.

(&)

r

122, Arrange the following in chronological order.
- L

Surat split
Birth of the Muslim league

" Partition of Bengal

Reunion of Bengal

- (B)
. O

IV, IIL I, IT
IL IL 1, IV

SpEsdTLcupenn & ramﬂcmsl_]mor Gurﬂ@s}&ﬂu@g’%g;s.

I
1I.

I
IV

(A)

©

L.
II.
111.
1V.
A)
©

L
II.
III.

V.

A4

_ (C)

®TE Geray

apevalid 65& CErHDLD

e 9N eSamen

eurkigmersdenn wmy-GanswitiLy

IV, IT, I, IT
IIL IL 1, IV

(B)
(D)

" Which of the following is correctly matched?

- Bpseam_aupdle g sfuns QurmpSuarerg. .

11, L IL IV
ILIL LIV

L I, I IV
P

"Rajaji - ‘Pro-changers
Vanchiﬁathan o Robert William Ashe
K. Kamaraj . - Chief Minister of Tamil Nadu in 1952
Sathyamurthy = Mayor of Madurai .
7 g sl w 1
1T ' D) 1Iv

wrpmb CousirHGasmi

gigred T
eumErHis et .= @orum afldaflib e
K. &mogrgy o 1952-’615@6]&9&5@637 WPBVDEET
aduppirgl ' - waenrullesr Guowir ‘ '
I | . ® I
CIr ; D IV
49 GS1902
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124. Who was the Chair Person in the All Indiz_a Socialist Co_nference held at Patna, 1934?

)
o
©

)

M.N. Roy
Acharya Narendra Deva
Sampurnanand

Sri Prakasa

1934-é ur_emnefle panL_Guhp sdle Gbdu Caraadls £_4A wrHTCI.6m Seneeuiwimi?

@)
®)
©
®)

' GTwb.GTET. gy

ggriiur pCradr Cgeur
ST BTTHS

5 dysragm

125. In which year the widow remarriage was legally permitted?

)
o
(©)
D)

1855
1856
1857
1858

alllgenay LoMILERTLD 6ThE ek FLL L Teulons SigodléaTiu L gi?

A)
(B)
©)

(D)

GS1902

1855
1856
1857
1858

50



126. Consider the fdﬂowing pairs

. I'I
IL

IIL.

V.

Wood’s Despatch ~ 1854
Hunter Commission ~ 1882
University Act — 1880
Wardhaw Scheme of Education — - 1904

Which of the pairs given above is/are correct?

A)

' Ian_d'IVonlﬁy -

@ landIl

(B) Ilonly
D) [Mand [T

-

Géreumib Geamsam EmsHd Asmds, sfwuner Yomanmu Gaiey Aawis:

I
I

111

- IV,
(&)
O

2 oifiGms
| QIDeRTL it aal.éfleq.sﬁ
uai)éasn&)éaasgp& gL LD
QUITTSIT gl apenm

I opmd v
Twppo Il

—. 1854
~ 1882
~ 1880
— 1904

®) oG
(D) I ippmyd TII

127. Which of the following is incorrectly paired?

(a)

(b) -

©
(d)

GV

(C)

‘Indian Mirror
Vande Mataram
Tribune
Bombay Herald

(a) is correct

(b) and (c) are correct

D.N. Tagore
Madam Cama
D.S. Majeeta
J.A. Hickey

B) (é) and (b) are correct
Wf (d) alone is correct

1Qemrau(mLIcHDDIE 6Tl shlwrs Qurmssliuelldema?

(a)
(b)
©

@

&)
©

@b Byl

. aupGs WngHD

g ERLILLET
umbGu Gangreh
@) wefbsf
(b) pgd (c) &f

D.N. graaf

GuLLD Smom,

'D.S. wghsn

JA. aflsd - |
B) @ wppd ®)
O @) oo s
51 - GS1902
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128. Setting up of Village Panchayats is associated with which part of thé Indian Constitlutio.n?
(A) Preamble = | | N
(B) | Fundamental Rightg.
_w Directive priﬁciples of _State Policy

() Fundamental Duties

&lymo u@#nmggjéamar i@wné&gm@Qn@ _G,srn_r'rqm_um QB &r;ré]u.zsoml;nlhq_ LJ@,Q T ?
(Aj auﬂmmmmﬁq UL Apseyeny |
B) @guuec o Nepwasdr '

©) pden euglasrnj_@ ngﬂ@o‘mm Qarerensser

D) el sLemwSar

129. In an open economy, GDP is the sum of
M Consumption, gross investment, government spending and net exports
(B) Consumption, net'investment, government spe-ﬁding and net export
_ _ e _ }

(C)  Consumption, gross investment, government spending and gross exports

D) ~ Wages, rent, interest, profit and dépre_ciation

&6 Hois Qun@mﬂgnggﬁﬁ, Qorgs e aprl( e pusdan sarsf@n Gunsy, Gr@ﬁgj QarrememiiuiL

Ceuamrig wies

@) psiey, Qungs seSE. Sivs Qseny wHmid Blar gpmod
B  msiey, Hsr pseS®, _em"& Qewey whpid Hay ghmind

©  pstay, Aorss gdE. sins Gler?ml woppi> Guongs g@@“ﬁ

D) emfukiser, mrn_me_;s,'a.u'_tq_. Qeorub whmib Csiivrend

GS1902 | 52 o - o



130. The minimum support pnces are a means of supporting the |

(&( farmers . ' L (BY consumers
b'(C) mdustnes o N . (D) retailers

GODHEUILS cﬁ,g,ljeu Seved ‘rﬂrramru_n.n THS mnsgﬁm@&@ DSOS @@5@3:&?
(A) a‘i]su&rruﬁ]&err : i - _ ®B) gjasrr(%amrr

(C) Qsmflcser - . (D) eSpueanwrariger

131. Which one of the following is an indirect tax? - _
Ay Inco_me tax ' . ‘Bf Service tax
(C)  Corporation tax R (D) Interest tax

S Qanpssliu Hararaupbler apg eufneng weneps suﬁl@éng) 2 GD? |
(A)  eu(mman eulfl : ' - (B) Gsenau aufl

(C) &l Lnawenn (smriuGream) auft - (D) el iSstemaif)

132. India’'s Human DeveIOpment Index HDI in 2011 was better than that of
| I China b
II. Srilanka
III. Bangladesh
IV. South Africa

@ &I IV & . ® mIv
wih W W = o @ ILULIV

JENIGES N ;BnL_lq.eur wellg cueTiFs @gﬁluﬁ@ 201141 syemg e HD GT‘II)QS lI;r;rrl_:r:mi_ sﬁlt_ 2 UITEUITENS &

BOehes?
L Saum
II.  Qedess

Il ukisemCssnd

IV. Qsp@odfsr
(A LI L IV _ ® 101, IV
© m | ®) ILIIL IV

o g _ 53 T . GS1902
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LB

133. The Indian Government gets ———-—— percent of India’s total energy needs are met

[N

through imports. _ _ .
v 30 percent ' " (B) 40 percent

(C) 20 percent _ - (D) 35 percent

@pHwrellsy Qworss Qbﬁ)msﬁ]d) agsenen FHeisb 2 Hme GHHwu éura: BnéEws (BOGDLE Qupdlenpen?
(A) - 30 sgeigd _ (B) 40 &geﬂgtb ' '
(C) 20 szelgd (D) 35 sseisd

134. Mr. Ladejinsky, an American expert on land reforms, after detailed_ study observed that one
of the following districts worst in land tenure system in Tamil Nadu

(A) Namakkal . B) Erode
W' Thanjavore ) Karur

S@uRéstedean Lsp Aubp ;_ﬂeu 5&5@@;’55 HlLyewri . Gm@@s&r@bﬁ @igunelld fao SisHmssd
Ll @p@mwu.rrra; TGS Setet, HOP l_l‘F)ITI_I.q.GD rﬁ]mm@m wres L 1b e Gromeswomer He

GogMEmL Qaneisr HeTeng eTens: s Hlemmit
(A)  prwase P ® FFGWG
(©) sepereyt ' D) smi

135. The GATT was biased in favour of the developed countries and was called informally
W Rich men’s club i
{B) League of nation
(C) WTO |
D) Axis_nation'

GATT wewliy auaripg BrpsErsE snsanns Qeuduipoms LDGD,IDI@JELDH'S SN Qeug ..
(A)  uewEsTT LasETET S | | | .

B) sruCss shisbd

(C) e asanrgss Bneued

D) &5 prsen

GS1902 | | | 7O e



136.

137.

138.

Which one of the fo]lowmg cases is not directly related to Article 21 and) prOVlSlOl’l of rlght to
life in the Indian Constitution?

(A) A.K. Gopalan Vs. State of Madras

®B) Menaka Gandhi Vs, Union of Ihdia

%Cf Express News papers Vs. Union of Ind1a
o - Pavement Dwellers Case

BpsaRTL GBS G PSS, @ﬁﬁw_&ué’iwmmmuq e 21 whmb eumpeughanen e fepwCur
Crrywrss QsrLmdaangg? -

- {A) ¢.Gs. Csrunedr el mguneiu LOTSTeRTLD
-(B) Cueran st et QBHw gendluid

(€)  eaavliyen @&uﬁ@gnﬁi‘r&seﬁ sr_@r'r EbSw sy
M) meoLunmg TG aipsE '

" In India the first proclamatlon of nat10na1 emergency under Artlcle 352 was declared in the

- year .
@ 1961 & 1962
© 1965 Y D) 1975 .

@mﬁmnﬁﬁm sl Gﬁ@ 352—4p uu.mnu@g;ﬂ apgen @pgeﬂe) (Bgaéhu SjeusT ;_ﬂsnw LCIIII&?I_GMTLD
G&u.:muur_l_%m"r@ o

A 1961 . B®) 1962

(©) 1965 : : (D) 1975

According to the Article 170 of the Indian Constltutlon the maximum hnut of membersin a
Legislative Assembly is

\m Not more than 500 and not less than 60 members

“(B) Not more than 400 and not less than 50 members

(C)  Not more than 300 and not less than 40 members
(D) Not more than 280 and not less than 30 members

sirfweenoly FLL 60 170-6 g omble L wep 2 pihiGaniseaflen 2 i eramenilEemaEwunag
(A) 500 &@ BsTogIDb 60 &G G@DLIT@Ith GHésTD
(B) 400 &g Wsmogid 50 6@ GEDWITOGID B(HHESTD

(C) 300 & Bsmogiid 40 &@ @Gerpuirogit Glmésrd -

(D) 280 &@ Wamogid 30 @ @epWITLgID GEHEsmD

55 - . S1902
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139. The administrative vigilance division was created in 1955 by the
(A) Ministry of trade. IBf Ministry of home affairs
{C) Ministry of external affairs _ (D) Ministry of defeij.ce '

1955-& fiftauns eanpd acdrareliuyy Giflemes o graunsduig
(A) @3558 F0D D BLEFHD B e SI6OD S DFFHLD

©)  Gesellypeys geop SIEIDFFSID (D) UTHETILS SieOD H@WESHLD

140. Sarkaria commission on centre-state relatlons was appomted by the Government of India

- during
(A) - 1973 - S ® 1975
_wf 1983 e (D) 1985

@pfu oigemed oW — mrrﬁlsu 206y FLOLBEIONG FTESTIUT G1p amm&&um_l_ 2,T(H
(A) 1973 - . ' (By 1975
(C) 1983 J - (D 1985

141. - Which one of the following statement is not correct about public interest litigation?
(A)  Public interest litigation may be transferred to appropriate High court.

w A petition in public interest litigation filed before the Supreme court may not be
transferred to an appropriate High court

- {C) ¢ The letter in public interest htlgatmn should be addressed to the court and not to an
* | individual Judge '

(D)  Public interest litigation is under the preview of High court

QAuirg Be e PEE LDl Spseait. 6THes sl 2 eRTEIHL?
(A) Qurg pe sug;-e;ma; BEHS e WT ﬁ@mmmgﬁm@ LD HEOITLD

(B) o5 ﬁﬁmaﬂmg,ﬁw Qurgy L ach.pa;eﬁsu 2 &6 6(h Lngnsma.l SGHS LW ﬁﬁmmmﬁﬁm@ OTHD
Butesrng

C) Qurg pe @J&Qﬁﬂezlm S BSOS eaﬂ em boudss a@luunww ﬁﬁwmmﬁﬁw@ Sigyuu
Ga.lsm@m

D) Qurg pa s ewir S G\JI]‘LDI_CI]GIIT .%lag GU(RLD

GS1902 - _ | . 56 - ' ®



142,

143.

144.

Who was the ruler of Jammu and Kashmir in 19407
(A) Karan Singh « Maharaj Héri Singh |
(C) Ram Ratan Singh | ' (D) Saran Singh

1940 @ g smagbfien sy Auraryrs G beeurt wmi?
A) srer (B) &g anf Sk

(C) Fmbd gL e S (D) spe S

“An article without which the Indian Constitution would be nullity. I would not refer. to any
other article except Article 32. It is the very soul of the Constitution and the very heart of it”.
Who said it? ' '

&) Gendhiii ' ~ ¥f BR Ambedkhar

(©)  Jawaharlal Nehru | ®) M.N:Roy

“Dibs e a4 @G'D.QJI'I'GEI]I._I_I'I'G'J. rlweenioliLy edemr. 32 ug) Srfluaeioiy Gﬂ@mu.lg, selily Ceumy
gor@mpuh @GOG wr Gl Qaeild srer @i @rduemoinle  eToTeurSeb
Gswwrsa|b eflamhGang” = erey sapluieuiT wmiT? '

4) s ' : (B)  B.R. suCugart

©) meuspione Cem ' (D)  enb.erein. gmil

The Maternity Benefits Act was enacted in the year
W 191 - ®) 1976
(Cy 1978 - : (D) 1984

pFey ST LILIEH(H FLL LD QUHDUILLL IEHLD

(A) 1961 , (Bj_ 1976
C) 1978 - (D) 1984

57 _ _ - GS1902
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145. In our constitution, the provision relating to the suspension of fundamental rights during

the emergency provisions has been taken from which country?
(A) England |

(B) France

(C) | USA |

W Germany

Seusy Slenew YgaL_angdlan Cumg gL 2 Aawamer Qpl._&ﬁl UGG APEDDHN 6THES HTL.GOL LI
- Sarupdl pogl sipduemoiides CaisgaCGarmd?

A) @huderbg

(B) dgrewav

(O @Quilss gédu priser
(D) Qgtwaf

146. Khosla commission was established to re-investigate the &eath of whom?
W’ Subhas Chandra Bose
(B) . Mahatma Gandhi
(C) . Rajiv Gandhi
(D) ' Indira Gandhi

Camevedm @p wrmenLw Gy GMss: oy eferranar Qsuiw o Mmamssiiul L g?
(A) sumey shdly Cumev

(B)  wsrgwr srpd

(©) grgdeu snpdl

D)  @pdor srps

- GS1902 58 ®



147.

148.

Article 132 of the Ind.lan Constitution deals w1th

e
®)
©
1)

The appellate jurisdiction of the Supreme Court in constltunonal cases
The appellate jurisdiction of the Supreme Court from High Court in civil cases
Criminal appeals from High Courts to Supreme Court

Special leave to appeal by Supreme Court

@;ﬁ,ﬂu.i sirfweeawlear 132 sug) Gﬁlﬁuﬁlm GHLAL 0L Heteng

A)
B)
©

D)

Sirdumenliy Q,srn_rruml_u_: eulpg et u&ﬁﬁ sl Cod apepl@ Qeiiuyd

aub@udensy LD

o Wik Lnézg}r‘é;a;mﬂeﬂ(r_r;‘rbgj G &1 ausGaaie 2 so%d weDHFHES Cod Wopuil

QEUwLb aurb@udeer DDl
Ghp apsEsde cwuifs wapsHdmbs o ssid waDsEDG Glow ape@niH Geib
aurb@udeme LD

2 FgpSloemp ﬁpaq A paperp sre Gioe wpenpui® LD

Which Amendment Act enabled Delhi and Pondicherry to vote in the Presidential Elections?

W
®)

(O

)

70th Amendment Act
69 Amendment Act
64th Amendment Act
74% Amendment Act

GRWTES 'gsai'mmfr Caipedler Qraell whpmb unamgsGsl wrHlofisar urﬁ@é;b& aflaiams Ceals .

sirflueaioli HHEsE 5L LD eTE?

(&)
(B)
©)

@)

70" oirflueewiil Spsss sULID
69 spflueioliy HESsE s L.
64" gipdlwaawliy HGEsF sLLD

74 srduee iy HHSsE FLb

59 | D= GS1902
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149. The radii of two right circular cylinders are in the ratio 4:3 and their heights are in the ratio
7:4 then the ratio of their curved surface areas is in the ratio

(A) 3:5 | B) 5:3

© 3:7 | N 73

@ra(® Coieul L o (menearaafles B Trasaien fdlgn 4 : 3 Cugid agsumﬂm 2 Wprisefier Gﬁhﬂgm
7 4 aaileér Beubdien euaerugliysaien cllflsh

(A) 3:5 (B 5:8
C 38:7 D) 7:3

150. A wall is to be constructed with length 60 m, breadth 3 m'and-he_ight 5 m. How many bricks
are required to construct a wall with length 30 ¢m, breadth 15 cm and height 20 cm?

(A)  1,50,000 B) 1,265,000
@ 1,00,000 D) 1,75,000

Band 60 5 sed 3 B o wimd 5 8 2_en_w seuir arapuILs Herd 30 cm x syseod 15 em x 2 wiph 20 cm
2 aniw LFmisnadt arsgmen Coamau? |

(A) 1,50,000 _ (By 1,25,000

(C)  1,00,000 - - ®) 1,75,000

151. The ratio of boys and girls in a class 4 : 5 if the number of bbys is 24, find the number of |
girls
0)W 20 ' B) 19

€ 16 | g 30

o® auELGd e dar wreweud WHKL  wiramalisaian e lgd 4 5 eran o drang). wresreuetlen
cramenflsens 24 arafld Lonaredseflen craimenilsams ereuauaray?

Ay 20 ® 19

© 18 R D 30

G:S1902 60 | | o



152. In a certain code word ACEG is written as 16 and DFGH is written as 25 then how can be

written HIKM : _
(A) 36 wr 41
© 40 O 39

o0 GPUALL suGss Qumdie ACEG eaeaug 16 aeeyd DFGH eaaéwng 25 ererab

PG uud e HIKM eremmag
A 36 . ' - (B) 41
€ 40 | D) 39

153. If 124922497 =32
2?+3°+6> =7
344741282182

then 62+ 7% +422 =7
@ 45 | B) 49
! 43 | ) 42

1*+2%+2% =3
22432462 =7%
32 4 42 +12% =132 erafle

62175 +422 =2
(Ay. 45 | ®) 49°
(C) 43° 'L (D) 422

154. A certain sum of money amounts to Rs. 20,160 in 5 years at 8% interest. Find the principal
(A) Rs. 14,000 - _ (B) Rs. 14,100
(©) ° Rs. 14,440 1 @ Rs. 14,400

@ I L Agrenswrang 8% eulig eigsdler 5 gam@Boafle ¢p. 20,160 fng). Sisme srans
(4) 3. 14,000  (B) 14,100 -

C) . 14,440 (D) em. 14,400

o | | 61 . . GS1902
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155. How many prime ﬁu_mbers lies between 1 to 100

@ 26 & 25

© 24 : D) 20

1 &@b 100 @0 Qe Gw Siewpgidarar ust aansafllan aramentsms ereuaienay?
A 26 B) 25

© 24 | O 20

156. The value of 3+/0.015625 is

(A) 0.05 (B 025

(9{ 0.5 . D) 2.5

{+/0.015625 & iy

4) 005 B) 0.25
©) 05 . _ @™ 25

157. Medianof 12, 17, 5, 8, 13, 6, 91is
@) 8 | | o o

C 12 . o 17

12, 17, 5, 8, 13, 8, 9 erénp afleuphuisafien GanL Hlener iamey
Ay 8 . @) 9
© 12 o 17

GS1902 62



159.

160.

-158. Rangf_e and Range coefficient of the data —3, -2, -1, 0, 1, 2, 3 are respectively

(A) .0andé (B) 6and0
€y Oando @ 6and w

-3,-2,-1,0, 1, 2, 3 eréhip efleurhis@pésTar 6is wHmb efFad Qa;@ apernGi
@  0wppw 6 | B 6 wppid 0
€ Ouwdmo 0 _ D) 6 whyb «©

Find the unknown number?

20 18 07
30 08 22
40 ? 28
@ 10 | N 12

© 16 _ D 2

A PULL CTCRTEHERTS SHT6Hr?

20 13 07
30 08 22
40 ? 28
A 10 - B 12

€ 1 - (D) 20

The diameter of a circle is 10 cm. “P” is the pdéint lying outside the circle. From that point
“P” two tangents are drawn to the circle. The length of each tangent is 12 em. What is the:
distance between “P” and the centre of the circle. :

(A) 12cm ' " 13em
(C) 15cm _ (D) 10cem

10 @&.8. eNL_qparer eul L gdle QeuaflGu “P” ereimm yerefl 2 arergy. Lerefl “Pi@eflgmig e L sEHn&
@rar® AzrGCarhad eequinHereargl. gl OsrHGstigar Harapd 12 Gai8. erafid

- aulL gdlen erwisEH@ED yatefl “P7EE D e ULl L QFmaneey erenear?

A) 12Qs.8 (B) 13Qs.8

(©) 15Qs.5 ' (D) 10Qs.5

63 . GS1902
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161. Raju starts walking towards south. After walking 20 m he turns towards North and Walks
8 m. Again he turns towards East and walks 5 m. How far and in which direction is he from
his starting point.

(A) 15 m, _Smith (B) 17 m, North-West
(C) 7m, East | 7 13 m, South-East

TR ® arémLieuit AgHE Cprad BLESS CarLiugdprt. 20 8 g pLbs Seul L& Crrad Smbl
8 8 g pL&BonT. oLy s Cersd Hmn@ 5 & girw pLadport efled, by
Bl (mHSH eTeusuaTay GITID eThES Sensuiles eul @mUuLITi? -

(A) 158 Qsh@ B) 178 eu Cwone -
(€C) 7.8 fpss (D) 138 Agendlpsa
162. The sides of 14 Squére's are 11 cm, 12 em, 13 em, .......... 24 cm, then find the total area of
- 14 squares. .
@A) 3515 cm’ | W 4515 cm?
(C) 2115 cm? ' D) 3215 cm?

11 Qs.8, 12 @s.8, 13 Qs.ib...... 24 Q.8 <, SwisTeumann Q.pemm@u_i UGS aTelsarias olemaTL
14 &gumamﬂa‘m errg,gu ULt STeTs.

(A) 3515055 - _ (B) 4515Qs.5
(€) 2115Qs.8° e (D) 3215Qs.5°

163. A Train travelled a certain distance at a uniform speed. If the train had been 7 km/hr faster,
it would have taken 14 hours less than the scheduled time. If the train were slower by
3 km/hr then it would have taken 10 hours more than the scheduled time. Find the distance
covered by the train. :

(A) 600Km e (B) 700 Km
(@) 800 Km W 900 Km

Srman Caussdd g GRUILL §1Tsms @ AT cusmy GHOG L Corsdld s bog. Apmi
adguiar Cosn wefllsg 7 4£15. aar  ofslEstLnmheTd  SSSMEDS BLES
GRS Oul yehs Cordms ot 14 wefl Gprb @epears FCgTLtT admy aBHEgs
QsremgmE@EW. Qs eanguien Causd waflsg 3 £.B8. aan GonssLulEmBaTed, ACH
STEDEE SL&5 @‘IﬂLJIE]I_LJLJL_Iq.@‘II;r&S Coprgeng el 10 wenfl Cryd flafisHGEE0 crafld Liwe

srsems s (Rl _
(A) 600 4.8 - (B) 7004.8.

(C) 80048 D) 900 &8,

GS1902 - 64 ©



164.

165.

166.

Find the average of first 'n' natural hun_iberé

@ el @ Mesbewn
' ‘d ."';‘1 | | | o | n’

s 'n’ GQua ﬁ@éaﬂs&r syaf) sres == ==

(A_) 1(-'1’;—1) _ . (B) nin + 1;(2n+1)
© = ™

A gardener wanted to reward a girl for her good deeds by giving some apples. He gave
2 apples on the first day, 4 on the second day, 8 on the third day, 16 apples on the fourth day

and so on for ten days. How many apples did she get from the gardener at the end of the

tenth day B : - :

A 1024 - O (B) 2060
(© 1760 2 N ' 2046,

pouet Qe e Andse Lflsafés oAbl Cam' Lssmyt fo atiddsme Lfsts seféss
peRaUBET. apse BraT 2 uiddrsedr, @rdnmd prer 4 guluddsdr. apéipmb prar 8 g rudldsdr,

- prénsmb prat 16 gruldraer ... erapiong) 10 priser sefigsmi. 10 prar qpiyeld HEAnB Qupms

Qameir.. QLTSS L neTE6T TeuaiaTa?

(A) 1024 - | - ® 2060
(@ 1760 | @) 2046

Using the clay, Malar makes a cone, a hemisphere and a cylinder have equal bases and the
heights of the cone and a cylinder -are equal. They same as the common radius then find the
ratio of their respective volumes T I S '
W 1:2:3 = B 1:_'2:_4'
€© 1:2:5 : - O 1:2:6

mmr’r'-aaﬂmeiwwsm.'uul_ldm@,sﬁ R by, @@ @rsCarard LHYL @O i@mm pEwen #1o |
<itg (LTI OPDid Satbifen 2., 2 heauller 2. wrSHHE FLTE6D Qaigmer. Gugid Geuaurin
Seupflen rsHnE sworsad Bmbsned Gapanilar sar slereis@hdemGu o dren A &igid

BN _ :

(&) 1:2:3 . ®) 1:2:4

© 1:2:5 - D) 1:2:8
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167. Sphencal metal ball of radius 6 ¢cm is melted and casted into small sphencal balls having
diameter 6 mm. ‘How many small balls can be casted

w’ 8000 - | . ®) 1000
(©). 6000 I M) 2000

6 Q.8 yraperer Cameraugou e Canss @& i@é;aauul'_@ 6 8.8 el Lqperer Aflw Génman.m
GETREeTTE cumEsLLIL LT ergpenet Al Garately.ou GanBaar S sEn?

(A) 8000 - | - (B) 1000 |

(C)° 6000 : (D) 2000

- 168. The rad.u of two circular ends of a frustum shaped bucket are 15 cm and 8 cm. If its depth is
63 cm, find the capacity of the bucket in litres (Take ;r-——)

(A)  2.6994 litres o & 26.994 litres
(©)  269.94 litres | (D) 2699.4 litres

&b @wmmn_ auigefleomer QJITGIﬂUS]GlT Gmg)q;o LODEHLD < LIL|D b @,pmg)GuJ 15 Qs.8 m;ogum :
8 Gl& 8. Gmguu: iplb 63 We. uS Granﬂa) Biger Qeslrmmmmm el Lfeb &nawrs (7 ——)

(A)  2.6994 &L : '(B) 26.994 it
(©) 269.94id . (D) 2699.4 ACLit

169. The present age of A and B are in the ratio 4 : 5 and after five years they will be in the ratio
5 : 6 then their sum of present ageis

(A)" 55 years ' ' M 45 years
(C) 35years ' (D) 25 years

A, B erenuiauitsefian 5m(§urra>,5u.| awug flfign 4: 5. 5 @J@:_m&@ja;@ ﬁlgp@ amrr&aﬂm suu.rg; 5.6
 erefiled, @(r_r;a.nﬂm SHGurens auwler 5o Dged '

(A) = 55 aypLrhiser ' ' (B) 45 aumLBIEET
©) 35 anLisd (D) 25 apiusa
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171.

A and Bcandoa work in 6 days. B and C can do itin 12 days C and A can do 1t in 4 days

" how many days it would take to finish the same work by all the three together‘?

(A)  8days

| %B( 4 days
(C) 10 days
(D) 2days

a5 Ceusnaenw A uib B u_||.o G&npgj Gg,nLa;srﬂ@m B I.I.]LD C b G&rrp@ 12 pm_&aﬂguu: C b A Wb
Goipgl 4 prisaflgud apigOui araflev, aasurraam ApeU(HLD Gerrp@ am@mmmmm TSSO BT sefln

QPig55 Guiguid.

(A)  Bpmiser '
B) 4 prisear
© 10 B st -

(D) 2pmser

A and B can cOmblete a work individually in 12 days and 18 days. They started doing the
work together but after 4 days A had to leave and B alone completed the remaining work.
The whole work was completed Toui) :

A 30 days :
B) 20days
M 12 days '
(D) - 8days

A, B.@@Gur’r @ Ceumaranus (Bose,r_r)(é’u.l 12 pm”_gerr, 18 ;r_r;rﬁ'.a;aﬁeb apig LI 4 preT Carme Limitdg inE
A f,rsu&] aApHoni. 54 Gsusma}mu B wi (b (y:mé]g)rrrr erafléd a;m(%mmenmm APPSUGID (1Ppig 56
GLD BT &H6T? '

A) 30 BT gei

B 20 priadr

(Cy 12.‘5W_L:_56h
D) 8 prisgdr
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172.

173.

: _ : | 2 +2+1 —T<x<-5
A function f:[-7,6)=> R is defined as follows f(x)= x+5 ~B<x<2 what is the
' : = S x-1 2<x<B

value of w ?
f(-6)-4£(1)

9 . - n
@ 7 ® 5
_ . ' 1
- 2 o
. _x'2%2x+1 —T<x<-5
sty f:[-7,6)=> R &pssem ey eu@nugissiuBereng }-‘(x)-: x+5 ~5<x<2 |
. xfl . 2<x<6
sre;uﬂab' %’}:-—3))22% & Losﬂuu Grfsmm?
2 | 7
.Y 7 | . B) 5
; 1
) 2 . (D) >

Mala and Latha each had a number of bangles. Mala said to Latha “If you give me 4 of your
bangles, my number will be thrice yours”. Latha replied “If you give me 36 my number will
be thrice yours”. What is the total bangles together W1th them?

(A) 70 _ & 80

(© 9 - == @®) 100

wrerellLapbd, egmeilpb aueneTILIGSHT 2 dTeren. “f erend@ 4 uemenudamang SHeTd erenaflLLb
2. éTer cueneTLdEaRen arameiams e anafith 2 eratangls GLimed @6&1@1 (DL I Gras e, grell b
saflemdr. § aenéE 36 euamamuLs@ETS gjbgnei) aanafiih 2 éter susmeTwidsaflan eramenfibens
o arafiLib 2 dramengll GUITE) ppaif L EISTEGL” eTem egT uﬁmaﬂggnw arafleh @meufliqpd Ceitpg
Gmrrg;;,m L_emer mmmu.lsua;aﬂm eranreflGans sra.lraua'rsu?

(A) 170 _ - (B) 80
C 90 ' D) 100
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174

Match List I with List IT and select the correct answer using the codes given below :

,._(a)

(b)
(©)
CY

- (A)

o’

©

D).

List I - planets _ List IT — Revolutlon Period
Mars o ' 1 88 days -
Earth 2 225 days
Mercury . 3. 687 days
| 4 365days

Venus

(a)  (b) © (d)

-t 0D = B

3
3
e
2

NN

uligued ~ T e ar LJL_Iq_[l_IGD - II i Qun@g,ﬁ &(‘35; ©_@irarr G]g,rr@ulﬁlaﬂ@p@ &ilwames sﬂem,mu_l

L ©

175.

. @sfley Gelis.
vt I — Gararser uliguich I — sphmiens FTeb.
(@)  Geeseumi 1. 88pniser
ORR 2. " 205 pri st
Ligear 3. 687 priser.
(d) Geudrah 4. 365 pm_sar
(a) m - D

A 3 4 . 1

® 3 4 1 2

© 2 -4 il 1

@ 8 LM 1 3

The term ‘seismic gap’ refers to

W’ A region | - . ~ (B) Aperiod - _
(C) A disaster I = (D) Seismic prediction

qsﬁlmﬁrrsq Ban_Qeuafl’ Gr@m asma)ar@a:rrm agmand GHESng.

(A).
©

& QrGssb . o B) @ s ey
@ CufiLa. K , ' D) yelwHre gphsenfliy
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178. Idennfy the 1rr1gat1on canal which ongmate from the Harl.ke Barrage in Ferozepur dlstnct '

of Punjab _
. (A) Bhakracanal | | | \zf Indira Gandhi canal

-(C)  Sirhind canal ' - (D) Bist Doab canal ..

u@&mﬁ]m SAUGTTEYT wieu L S o érer gmrﬂ&ﬁ ﬁng@,smgsﬁm Camenmyd gﬁrrurrm STDEU eI

SIMLIINETLD STeTS
(A)  uaypr s&rédeumi : B @bsgm .9;rr‘r_i5§ &Emreveums

©) srablp a;;rsbeuiﬂh- ' ' (D) Qe Gl sredsuml

177. Assertion (A) : Extra — Tropical cyclones are fbrmed in mid — latitudes.
Reasonihg (R) : The warm and cold fronts converge in mid — latitudes.
_ w . Both (A) and @®R) z-are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true buf (R) is not the correct explanation of (A)
(C)  (A)is true but (R) is false - ¥
D Ais Ifalse but (R) is true

© &y (A) 4w am_lan @,gj}n@ﬁmﬂ&é‘ﬂ &S BIL-5L) u@ﬁaeﬂd) Gamengydlenment.
sryamid (R) : Qaudiu wppib Gafit euaflgpssser wgHhu Q.'B_I.I-_EL‘J LigHsafd Qemamrdampar
A (A) whmd (R) @l;rs&ur@d) &l Gloggnb (R) 2 (A) eflpames &tﬁu_lrrcﬂ clemsaEwn G
B)  (A) wpmd (R) GrewrGid #A e (R) peng (A) efpamen &rﬂuqms_m sﬁ]m’fésé;méJ-a)
(O (A) & ,%a{n@ (R) g;sugu ' ' ' ' o
D) (A)soum emed (R) &f

178. The Jdg fall is located on the river

w - Sharavati (B) Cauvery
(C) Krishna B (D) Godawari
Cgrs BiraSpsd) wiamwpgierar b

&) smyreud B)  arelif)
©)  Speyemn | . (D) Gargreufl
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. 179. Who won the TAAF best female Athletlc of the year award in 20167
(A) Yelena Isinbayeva : \Ef Almaz Ayana
(C) Shelly Ann Fra_éer Pryce_ ' (D) Valerie Adams

2016—@5\3 gBGrerru -Qew eﬂ;oy;; (AN gl_asen aﬁ]@gj Glu;og;a.lrr l.urrrr? _
A weSanm pfaniCuearr ' B) i@wrav ST

© Gaq.meﬁl e uGrar Dengey @y aureCaf S FTLO

180. Match the Field with Nobel Prize Winners 2016 and select the correct answer usmg the
codes given below : :

Field o Nobel Prize Winner
(a) .Pea'ce
(b) Medicine
(c) Physics
(d) Chemistry

Jean Pierre Sauvage, Fraser Stoddart, Bernad L. Fermga
Yoshinori Ohsumi
Juvan Manuel Santos
Dav1d Thouless Duncan M, Haldane, MJchael Kesterlitz

e Nt

@ ®» © @

A 3 4 2 1
B 1 3 2. 4
er 3 2 4 1
"('D)4 3 1 2

- gloop smihE 2016—ssmen Gy ufls Qu;o;oeurr&aﬂw sﬁ]a.lurm.smaru Gurr@,sgla; mrﬂmm@sg &
Ga;rr@a;&uuL_L.. @ﬁn@u&aﬂ@m@ sflwurer eflenL_emuig Qsifley G&u.:&

seom ‘ Gprrua) uflas Quppeufsar
(a)  seowd - 1. glen eoufl &n@mg < Gped avGLmm. @, Quiremr. eré. ool
b)) wvmszans. 2. GursiGenml gansl. '
..((.:) @mmﬁlmé ' | 3.. a@mm@m@mw FrenCLmen
@ Cagbued 4. Gefi Qrgisen, mesrm(ﬁgpm&_m @10aCad @m_omm_au '

@ © @

(A 3 4 2 1
® 1 3 2 4
© 3 2 4 1
D)y ¢4 3 1 2.
0 - ==t 7 | = ) GS1902
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181. Who was elected as the Président of FICCI for 2017?
W’ Pankaj R. Patel o : (B) Rajpat
(C) Arora ' ) : B (D) Ryder

. 2017 Qbﬂﬁﬂq.ﬁ)ﬁn’ﬂf FICCI——@? alqnsu§ ,Smémurﬁrs Ggﬁ;’r;_@g@é;esum'_; BUIT wmi? -
(A)  unsg T LGl E B)  orgumC
(C) Gy _ (D) GG

182. The 7% World Ayurvedha Corigréss was held at
(&) Delhi (B) Bhopal
wr Kolkatta _ (D) Bengaluru

TS ‘2 s .%u,;r;r@sn’;s WLMBA®R BLjbS @)t.LD
(A  igeoedl — . C(B)  Gunlauad

€ Qstossst | @) Qurssen

- 188. The author of the book “TAMIL NADU : The Land of Vedas” is
W R. Nagaswamy v o ®B R Krishnamoorthy -
(C) . R.Nagarajan (D) R. Naganathan

“TAMIL NADU : The Land of Vedas” arénp Ligpesdien gyl

(A) . prseveumsl _ B) = Smegarmapigs
(© =i pravmgen .(D) . BIEHTHET '

. 184. Who was appointed as the Chairman of.CBDT {Central Board of Direct Taxes) in 20167
| ¢  Sushil Chandra o (B) Karnal Singh |
(C)  Luo Zhaobai . (D) RenuPall

2016 %Lb a@mq & CBDT—sn (wédlu Chrg auft eurfluib) sepaveunns Eluiflésiuiiauft wm?
&)  sfo spdgr : B) srama A

(C) - @Cun@umi o (D) Gremy LuTéd
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185. The longest cycle highway in India is located in . :
W Uttar Pradesh ' ~ (BY Madhya Bradesh_
(©) Maharashtra - - (D) New Delhi

_ @p,ﬁu.lrrsﬁ]a) Lﬁia; ﬁmmrrem A8 eueimy. ApEibLimens eribi@ereng;?
(A 258595Cssn B wiHuGrCsebd
(C)  werpmegyqd B D) uygdod

186. INS Karna was comm'issioneci in Indian Navy on July 12, 2016 at _
(A) Mumbai . - o ~(B) Cochin
@' Visakhapatnam © . (D) Chennai

- @.ereinera sienT, grPeney 12, 2016-6) L Ll Gribgs GLtb \
(A)  @weu (B) Gariflen
(C)  odersuligend (D) Qeeaen

187. Unmanned Combat Aerial Vehicle, RUSTOM - II was desxgned and developed by
' W DRDO : I (B) ISRO
) MIG - _ . (D) "HAL

yaféar Gumi aumeneuidl eursamb (UCAV) r;rsnn_u) I1 eneu &@surr&.ﬁl LoHHILD Gwmu@gﬁu.lg;
(A) . DRDO = © . (B) ISRO
© MG gk (D) HAL

' 188. Who took over as the chief of the IAF on Deeember 31st 20167
(A) - AV.Tipnis . ~ (B) ArupRaha. -
wr” B.S.Dhanoa _ ' , ' D) Nir_mal Kumar Varma

g Fbuir 31, 2016 ey @b eflores ULl gmmmvna Gungucu;bm@r'_r wn?
(A) | er.efl yleflav . (B) S graDT
(©  E.erev. sGamreur o (D) Blirwed @Lomi eufom

o ' | 13 - GS1902
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189. Which one of the followmg states is NOT going for assembly po]l in February 20177
w Haryana _ (B) Punjab
- (0) Uttarakhand | . (D Goa .

- Bpase TS mn{ﬂa)rma;aﬂm Gpeul 2017 w9 L Caiiged mmLGupngj?
A apflurer : B u@&rru
(€) o gsraram - _ D) Gameun

.190. Eight BRICS summit was heldin S
(A) Delhi . ' . (B Chenna1
(C) - Mumbai @ Goa

erLmeugy (Gfl&en wrpm 5;}_’55 @b .
B Qied - - (B) Qsenenen

(C) @meu ' ' (D) Gameur

191. Kiran Bhat, the winner of 2017 Oscar Techmcal Achievement Award belongs to which place

in India?
(A) Ahemadabad (B) P11an1

W Coimbatore S )] Hyderabad (Telungana)

2017~1b SyeTgHETE %@uasrrrr Qsmfeom L aflmengLs ngbm e L @pé\mnaﬁ]w TG eseNnE

Carpgeuis? _
(A) - sbSTUTS . B) YQeraf .
(C) | Gamulbysgmr D) ansoruTE (GsgmiETeaT)

192. Prof. C.V. Vishveshwara who died in Jan. 2017 was a specialist in
(A) Nuclear physics - (B) -Environmental physics
W Black holes _ " (D) Crystal growth

ggmmrﬂ 2017 & wanphs GurTdRwF éﬂ.aﬁ]._ efcyGeuageunr FlyemmmimHe gieon
A  emssm Pubud . (B) sppEsLps @uibthued
C) smpgevetssr D) ugs euarias
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193.

194.

195.

The Digital' Financial Literacy Project was launched on December 1, 2016 by the

W Union Human Resource Development-Ministry
(B)  Union Finance Ministry ' ' '
(C) - Union Home M1mstry
(D) Union TInformation Technology M1mstry

weoui 1, 2016-a Lq.glu_su Hgl G];_srrf_rrurrw asm@‘:'ﬂu_l@m AL Geng gusua;é] Gneug,g,@
(A) Log,g‘,lu.l Loeaﬂgeum Gmmu:r@ DIGPLDFFFD

B)  wsdw HE SieniwsEsD

i (C) w2 agmyenn SenESED

(D) s ssoud Asmdn L am@é&g;b

The Prime Minister laid the foun_dation stone for the new AIIMS in ul_y 2016 at

w Gorakhj)ur S (B) Kanpur
(©) Kolkatta .« .+ (D) Mumbai

L ATIMS -g Gg,m.fé:a; Srsw w@ﬁlrﬂuné L Oma 2016w g bad L iUl Hierer @b

() Gerraut ' _ i B) amanyr

(©) _Q&ndJaggn" ' , ' D) @enu

‘Which badmmton tltle was won by P.V. Sindhu in November 20167
\(&f Chma open super series '

B) _Hong Kong open ‘super series

(C)_ Russian ooe_n grand prix

(D) Chinese Taipei Grand prix

eTh LLOLBSTL LI UL G 19.68). Sibg HeulbLT 2016-6 Qeuenpii?
(&) fon Anjps QuppApmLi | |
(B) - eomusri Sobg Au@E@bEsTiT ' o

(O peiswen Snss QUi Gfléd

(D) far 19 QuAw s

75
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196. Who became the ﬁrét Indian-American USA aenator? N
(4) AmiBera |
(B) PramiladJ ayapél
d “ Kamala Harris
(D) Raja Krishnamoorthi

0555 @ Bus-s1@u0fiss USA Qeart_ i ayenest Lini?
A) ol Cugn I
(B) Qpblerm Glg&:ur@ ,

(©  aswarapriley

D)  grggr Bgegparrepisd

197. The book “An Era of Darkness = The British'Empire. in India”, released in 20186, is written

%Y Amefthia Sen
\d Shashi Tharocor

| {(C) N.Ram
(D) Taslima Nasrin

2016-é Qavafufiuut L “Qfl ey smbrrgusdle GHHur — @m Qe FeTUFL” TaD Hrmed

erpSluwieurt
(A) a@mﬁ,’s@u_lrr Glaen
B) #f gmi

()  eran. gmd

D) gevelor peviilen
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198,

_ 199

The book “1991 : How P.V. Narasimha Rao Mac_le History” feleased in 2016, was written by

w Sanjaya Baru -

(B) Shashi Tharoor

(C) Arun Jetley
(D) Dr. Kapila Vatsayana

2016-glé Qmﬂﬂﬂﬁ]t..t.ll.ll_l_ “1991 P V. guﬂmmryrrcu eréuauy e uml_,s,srrn’ STEND LSSSHEMG

: e :
(A) _&@su.l'uqr,
B) . &8 5@5&

Q) e Qgre

(D) wréei sle m,ﬁs&r[ujmn

- Which country does the present ‘UN Secretary General, Antonio Guterres belong to?

(&) Sweden . ok @7 Portugal
() Norway | ~ ° (D) Denmark

sHGUregL & HI. soLIen Quirgié Qeweomerit -_él,ﬁcﬁnmﬂcﬁn SLILJ60 CTHS p:rl;ml_& &nﬁﬁg@ﬁ?
@ asefia (0 ® Cunissésed . .
(O smiGeu : S D) QL&rwnﬁé '

+ 200. ’I‘he First Dlgltal Village (Akodara) in In:ha is in the state of

\ﬂr Gujarat | ' . (B) Andhra Pradesh
C) Kamat_aka _ (D) - Rajasthan

i @lr_'r,ﬁlujrreﬁl'd) P58 el L & eOUIDTESLIL L Aot (HCargoT) Siemnopgierar mblew
A GRITE | v B B iflr GrGgeid

(©)  sipresT . o (D) qrrggdﬁgrrs&r
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11.

12.
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Black ink Ball point pen in the apace provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commiseion’s notification.
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